Row#	Policy Form	*Policy Type	**Policy Category	Date Policy Sold	Date Policy Acquired	Acquired From Company Name	Acquired From Company NAIC	CA Policy	Other State Policy	Increase Requested	Increase Approved	Date Increase Requested	Date Increase Approved	Date Increase Issued	Company Explanation
1	GRP11-342- MA-AZ-200	G	С	1/1/2001					AZ	39.00%	39.00%	Exempt	Exempt	8/14/2010	Prior approval not required
2	GRP11-342- MA-AZ-601	G	С	1/1/2001					AZ	39.00%	39.00%	Exempt	Exempt	8/14/2010	Prior approval not required
3	LTC-CD9- MA-AZ	I	С	4/26/1999					AZ	39.00%	15.00%	3/11/2010	4/15/2010	8/14/2010	
4	LTQ11-336- MA-GA-1100	I	С	1/14/2003					GA	39.00%	15.00%	2/10/2010	4/20/2010	8/14/2010	
5	HTQ11-338- MA-GA-1100 NTQ11-337-	1	В	5/29/2002					GA	39.00%	15.00%	2/10/2010	4/20/2010	8/14/2010	
6	MA-IL-601 NTQ11337M	I	A	7/23/2002					IL	39.00%	39.00%	2/1/2010	4/19/2010	8/14/2010	
7	AIL998	I	А	7/23/2002					IL	39.00%	39.00%	2/1/2010	4/19/2010	8/14/2010	
8	LTQ11-336- MA-IL-601	I	С	12/13/1999					IL	39.00%	39.00%	2/1/2010	4/19/2010	8/14/2010	
9	LTQ11336M AIL998	ı	С	12/13/1999					IL	39.00%	39.00%	2/1/2010	4/19/2010	8/14/2010	
10	HTQ11-338- MA-IL-601	I	В	12/14/2001					∟	39.00%	39.00%	2/1/2010	4/19/2010	8/14/2010	
11	HTQ11338M AIL998	I	В	12/14/2001					IL	39.00%	39.00%	2/1/2010	4/19/2010	8/14/2010	
12	LTCGMPCD 9BCIL	G	С	1/1/1998					IL	39.00%	39.00%	2/1/2010	4/19/2010	8/14/2010	
13	GRP11-342- MA-IL-601	G	С	1/1/1998					IL	39.00%	39.00%	2/1/2010	4/19/2010	8/14/2010	
14	GRP11342M AIL499	G	С	1/1/1998					IL	39.00%	39.00%	2/1/2010	4/19/2010	8/14/2010	
15	LTC-LBP8-IL (MLI)	1	A	10/19/1995					IL	39.00%	39.00%	2/1/2010	4/19/2010	8/14/2010	
16	LTC-CD8-IL (MLI)	ı	С	3/1/1996					IL	39.00%	39.00%	2/1/2010	4/19/2010	8/14/2010	
17	LTCGACD9 MAIL	G	С	3/1/1996					IL	39.00%	39.00%	2/1/2010	4/19/2010	8/14/2010	
18	LTC-CD9- MA-IL		С	3/1/1996					IL	39.00%	39.00%	2/1/2010		8/14/2010	
19	LTC-CD-5MI		F	9/24/1993					MI	39.00%	39.00%	12/31/2009		8/14/2010	
20	LTC-CD8- MA-MI	I	F	9/24/1993					MI	39.00%	39.00%	12/31/2009	1/19/2010	8/14/2010	
21	HTQ11-338- MA-MI-998	I	В	6/1/2001					MI	39.00%	39.00%	12/31/2009	3/30/2010	8/14/2010	
22	HTQ11-338- MA-MI-601	ı	В	6/1/2001					MI	39.00%	39.00%	12/31/2009	3/30/2010	8/14/2010	

Row#	Policy Form	*Policy Type	**Policy Category	Date Policy Sold	Date Policy Acquired	Acquired From Company Name	Acquired From Company NAIC	CA Policy	Other State Policy	Increase Requested	Increase Approved	Date Increase Requested	Date Increase Approved	Date Increase Issued	Company Explanation
23	LTQ11336M AMI998	1	С	6/1/2001					MI	39.00%	39.00%	12/31/2009	3/30/2010	8/14/2010	
24	LTQ11-336- MA-MI-601	ı	С	6/1/2001					MI	39.00%	39.00%	12/31/2009	3/30/2010	8/14/2010	
25	NTQ11-337- MA-MI-998	1	А	7/17/2002					MI	39.00%	39.00%	12/31/2009	3/30/2010	8/14/2010	
26	NTQ11-337- MA-MI-601	1	А	7/17/2002					MI	39.00%	39.00%	12/31/2009	3/30/2010	8/14/2010	
27	GRP11-342- MA-OH-200	G	С	12/1/2000					ОН	39.00%	18% & 18%	2/22/2010	3/23/2010	8/28/2010	two tiered rate increase (two conesecutive 18% increases)
28	NTQ11-337- MA-OH-998	I	A	4/1/2002					ОН	39.00%	18% & 18%	2/22/2010	3/23/2010	8/28/2010	two tiered rate increase (two conesecutive 18% increases)
29	LTQ11-336- MA-OH-998	1	С	5/7/2001					ОН	39.00%	18% & 18%	2/22/2010	3/23/2010	8/28/2010	two tiered rate increase (two conesecutive 18% increases)
30	HTQ11-338- MA-OH- 998(TAX- QUALIFIED)	1	В	3/28/2002					ОН	39.00%	18% & 18%	2/22/2010	3/23/2010	8/28/2010	two tiered rate increase (two conesecutive 18% increases)
31	LTCLBPMA OH		A	10/1/1993					OH	39.00%	18% & 18%	2/22/2010		8/28/2010	two tiered rate increase (two conesecutive 18% increases)
32	LTCCD9MA OH	1	С	8/24/1993					ОН	39.00%	18% & 18%	2/22/2010		8/28/2010	two tiered rate increase (two conesecutive 18% increases)
33	LTCLBP9MA OH	1	A	10/1/1993					ОН	39.00%	18% & 18%	2/22/2010		8/28/2010	two tiered rate increase (two conesecutive 18% increases)
34	LTCGACD9 MAILOH	G	С	8/24/1993					ОН	39.00%	18% & 18%	2/22/2010	3/23/2010	8/28/2010	two tiered rate increase (two conesecutive 18% increases)
35	LTCCD8MA OH	J	С	8/24/1993					ОН	39.00%	18% & 18%	2/22/2010	3/23/2010	8/28/2010	two tiered rate increase (two conesecutive 18% increases)
36	LTCLBPOH	I	A	10/1/1993					НО	39.00%	18% & 18%	2/22/2010	3/23/2010	8/28/2010	two tiered rate increase (two conesecutive 18% increases)
37	NTQ11337M ASD998	I	А	2/23/2000					SD	39.00%	39.00%	3/2/2010	3/29/2010	8/14/2010	
38	NTQ11337M ASD401	1	А	2/23/2000					SD	39.00%	39.00%	3/2/2010	3/29/2010	8/14/2010	
39	LTC-CD9- MA-SD	I	С	3/3/1998					SD	39.00%	39.00%	3/2/2010	3/9/2010	8/14/2010	
40	LTQ11-336- MA-SD- 401(REV.TO 601)(CNB)	1	С	3/12/2001					SD	39.00%	39.00%	3/2/2010	3/29/2010	8/14/2010	
41	LTQ11336M ASD601		С	3/12/2001					SD	39.00%	39.00%	3/2/2010	3/29/2010	8/14/2010	
42	LTQ11336M ASD401		С	3/12/2001					SD	39.00%	39.00%	3/2/2010		8/14/2010	

Row#	Policy Form	*Policy Type	**Policy Category	Date Policy Sold	Date Policy Acquired	Acquired From Company Name	Acquired From Company NAIC	CA Policy	Other State Policy	Increase Requested	Increase Approved	Date Increase Requested	Date Increase Approved	Date Increase Issued	Company Explanation
43	LTQ11336M ASD998	ı	С	3/12/2001					SD	39.00%	39.00%	3/2/2010	3/29/2010	8/14/2010	
44	LTC-LBP9- MA-SD	1	А	4/17/1998					SD	39.00%	39.00%	3/2/2010	3/9/2010	8/14/2010	
45	GRP11-342- MA-SD-401 (REV. TO 601)	G	С	3/1/2003					SD	39.00%	39.00%	3/2/2010	3/9/2010	8/14/2010	
46	GPR11-342- MA-ND-601	G	С	8/1/2001					ND	39.00%	18.00%	2/1/2010	5/28/2010	10/26/2010	
47	GPR11-342- MA-ND- 601(REV)	G	С	8/1/2001					ND	39.00%	18.00%	2/1/2010	5/28/2010	10/26/2010	
48	NTQ11-337- MA-ND-601	ı	A	10/24/2001					ND	39.00%	18.00%	2/1/2010	5/28/2010	10/26/2010	
49	NTQ11-337- MA-ND- 601(REV)	I	A	10/24/2001					ND	39.00%	18.00%	2/1/2010	5/28/2010	10/26/2010	
50	LTQ11-336- MA-ND-601 (REV)	I	С	6/5/2001					ND	39.00%	18.00%	2/1/2010	5/28/2010	10/26/2010	
51	HTQ11-338- MA-ND-601	I	В	3/20/2001					ND	39.00%	18.00%	2/1/2010	5/28/2010	10/26/2010	
52	GRP11-342- MA-PA-601	G	С	7/1/2004					PA	39.00%	11.6% & 11.6% & 11.6%	2/11/2010	5/13/2010	9/14/2010	three tier rate increase (11.6% three consecutive rate increases)
53	NTQ11-337- MA-PA-601	I	A	10/15/2001					PA	39.00%	11.6% & 11.6% & 11.6%	2/11/2010	5/13/2010	9/14/2010	three tier rate increase (11.6% three consecutive rate increases)
54	NTQ11-337- MA-PA-998	ı	A	10/15/2001					PA	39.00%	11.6% & 11.6% & 11.6%	2/11/2010	5/13/2010	9/14/2010	three tier rate increase (11.6% three consecutive rate increases)
55	LTQ11-336- MA-PA-601	I	С	11/28/2000					PA	39.00%	11.6% & 11.6% & 11.6%	2/11/2010	5/13/2010	9/14/2010	three tier rate increase (11.6% three consecutive rate increases)
56	LTQ11-336- MA-PA-998	I	С	11/28/2000					PA	39.00%	11.6% & 11.6% & 11.6%	2/11/2010	5/13/2010	9/14/2010	three tier rate increase (11.6% three consecutive rate increases)
57	FLQ11-336- MA-PA-601	I	С	11/28/2000					PA	39.00%	11.6% & 11.6% & 11.6%	2/11/2010	5/13/2010	9/14/2010	three tier rate increase (11.6% three consecutive rate increases)

							Acquired From		Other						
Row#	Policy Form	*Policy Type	**Policy Category	Date Policy Sold	Date Policy Acquired	Acquired From Company Name	Company NAIC	CA Policy	State Policy	Increase Requested	Increase Approved	Date Increase Requested	Date Increase Approved	Date Increase Issued	Company Explanation
58	HTQ11-338- MA-PA-601	I	В	4/4/2001					PA	39.00%	11.6% & 11.6% & 11.6%	2/11/2010	5/13/2010	9/14/2010	three tier rate increase (11.6% three consecutive rate increases)
59	HTQ11-338- MA-PA-998	I	В	4/4/2001					PA	39.00%	11.6% & 11.6% & 11.6%	2/11/2010	5/13/2010	9/14/2010	three tier rate increase (11.6% three consecutive rate increases)
60	LTC-LBP- 2PA	I	A	12/2/1992					PA	39.00%	11.6% & 11.6% & 11.6%	2/11/2010	5/13/2010	9/14/2010	three tier rate increase (11.6% three consecutive rate increases)
61	LTC-LBP8- MA-PA	I	A	12/2/1992					PA	39.00%	11.6% & 11.6% & 11.6%	2/11/2010	5/13/2010	9/14/2010	three tier rate increase (11.6% three consecutive rate increases)
62	LTC-CD9- MA-PA	I	С	10/12/1992					PA	39.00%	11.6% & 11.6% & 11.6%	2/11/2010	5/13/2010	9/14/2010	three tier rate increase (11.6% three consecutive rate increases)
63	LTC-CD5- 2PA	I	F	10/12/1992					PA	39.00%	11.6% & 11.6% & 11.6%	2/11/2010	5/13/2010	9/14/2010	three tier rate increase (11.6% three consecutive rate increases)
64	LTC-CD8- MA-PA	I	С	10/12/1992					PA	39.00%	11.6% & 11.6% & 11.6%	2/11/2010	5/13/2010	9/14/2010	three tier rate increase (11.6% three consecutive rate increases)
65	LTC-CD9- MA-WV	I	С	5/1/2000					WV	39.00%	25.00%	3/17/2010	5/14/2010	9/14/2010	
66	LTQ11-336- MA-KY-1100	I	С	5/13/2002					KY	39.00%	39.00%	2/22/2010	5/28/2010	11/14/2010	
67	HTQ11-338- MA-KY-1100 (TAX- QUALIFIED)	ı	В	3/27/2002					KY	39.00%	39.00%	2/22/2010	5/28/2010	11/14/2010	
68	NTQ11-337- MA-KY-1100	ı	A	10/16/2002					KY	39.00%	39.00%	2/22/2010		11/14/2010	
69	LTCCD9MA MS	ı	С	2/1/1998					MS	39.00%	25.00%	2/12/2010	4/8/2010	11/14/2010	
	LTQ11-336- MA-MS-998 (TAX														
70	QUALIFIED) HTQ11-338- MA-MS-998	ı	С	3/1/1999					MS	39.00%	25.00%	2/12/2010	4/13/2010	11/14/2010	
71	(TAX- QUALIFIED)	ı	В	2/5/2001					MS	39.00%	25.00%	2/12/2010	4/13/2010	11/14/2010	

Row#	Policy Form	*Policy Type	**Policy Category	Date Policy Sold	Date Policy Acquired	Acquired From Company Name	Acquired From Company NAIC	CA Policy	Other State Policy	Increase Requested	Increase Approved	Date Increase Requested	Date Increase Approved	Date Increase Issued	Company Explanation
72	LTCLBP9MA MS	ı	Α	2/1/1999					MS	39.00%	25.00%	2/12/2010	4/8/2010	11/14/2010	
	NTQ11-337- MA-MS-998 (TAX-														
73	QUALIFIED) LTCGACD9	I	Α	9/1/2001					MS	39.00%	25.00%	2/12/2010	4/13/2010	11/14/2010	
74	MAILMS	G	С	2/1/1998					MS	39.00%	25.00%	2/12/2010	4/8/2010	11/14/2010	
75	LTQ11-336- MA-NJ-998	ı	С	6/14/2010					NJ	39.00%	20.00%	2/11/2010	7/29/2010	11/14/2010	
	NTQ11-337-	<u> </u>													
76	MA-NJ-998 LTCGACD9	I	Α	1/27/2004					NJ	39.00%	20.00%	2/11/2010	7/29/2010	11/14/2010	
77	MAILNJ	G	С	9/1/1999					NJ	39.00%	39.00%	Exempt	Exempt	11/14/2010	Prior approval not required
78	GPR11-342- MA-NJ-101	G	С	4/1/2004					NJ	39.00%	39.00%	Exempt	Exempt	11/14/2010	Prior approval not required
79	LTCCD8MD		С	10/8/1996					MD	39.00%	15.00%	2/2/2010	6/15/2010	11/14/2010	
80	MA-MD	ı	С	10/8/1996					MD	39.00%	15.00%	2/2/2010	6/15/2010	11/14/2010	
81	LTQ11-336- MA-MD-601	1	С	1/4/2002					MD	39.00%	15.00%	2/2/2010	6/15/2010	11/14/2010	
82	LTQ11336M AMD1100	1	С	1/4/2002					MD	39.00%	15.00%	2/2/2010	6/15/2010	11/14/2010	
83	HTQ11-338- MA-MD-601	1	В	7/24/2002					MD	39.00%	15.00%	2/2/2010	6/15/2010	11/14/2010	
84	HTQ11338M AMD1100	1	В	7/24/2002					MD	39.00%	15.00%	2/2/2010		11/14/2010	
85	NTQ11-337-	ı	Α	12/31/1996					MD	39.00%	15.00%	2/2/2010	6/15/2010	11/14/2010	
86	MA-MD-601	I	Α	2/17/2004					MD	39.00%	15.00%	2/2/2010	6/15/2010	11/14/2010	
87	GRP11-342- MA-MD-601	G	С	4/1/2003					MD	39.00%	15.00%	2/2/2010	6/15/2010	11/14/2010	
88	LTQ11-336- MA-MT-601	ı	С	1/20/2003					MT	39.00%	18.00%	6/15/2010	8/3/2010	12/15/10	
89	NTQ11-337- MA-MT-601	1	Α	3/23/2004					MT	39.00%	18.00%	6/15/2010	8/3/2010	12/15/10	
	GRP11-342- MA-MT-601	G	С	5/1/2002					MT	39.00%	15.00%	6/15/2010	8/3/2010	12/15/10	
	GRP11342M														
91	AMT200 LTQ11-336-	G	С	5/1/2002		+			MT	39.00%	15.00%	6/15/2010	8/3/2010	12/15/10	
92	MA-OR-601	ı	С	8/12/2003					OR	39.00%	20.00%	6/14/2010	8/13/2010	12/15/10	
93	GRP11-342- MA-OR-200	G	С	9/1/2003					OR	39.00%	20.00%	6/14/2010	8/13/2010	12/15/10	

Row#	Policy Form	*Policy Type	**Policy Category	Date Policy Sold	Date Policy Acquired	Acquired From Company Name	Acquired From Company NAIC	CA Policy	Other State Policy	Increase Requested	Increase Approved	Date Increase Requested	Date Increase Approved	Date Increase Issued	Company Explanation
94	GRP11-342- MA-OR-601	G	С	9/1/2003					OR	39.00%	20.00%	6/14/2010	8/13/2010	12/15/10	
95	LTCCD8IA	!	С	5/10/1996					IA	39.00%	20.00%	2/10/2010	9/8/2010	12/15/10	
96	LTCCD9MAI A	1	С	5/10/1996					IA	39.00%	20.00%	2/10/2010	9/8/2010	12/15/10	
	LTQ11-336-														
97	MA-IA- 401(601)	1	С	10/29/1999					IA	39.00%	20.00%	2/10/2010	9/8/2010	12/15/10	
	LTQ11-336-					Wellmark Blue Cross and Blue									
98	WM-IA-998	1	С	11/1/1999	10/1/2001	Shield	95531		IA	39.00%	20.00%	2/10/2010	9/8/2010	12/15/10	
99	LTQ11336M AIA401	1	С	10/29/1999					IA	39.00%	20.00%	2/10/2010	9/8/2010	12/15/10	
- 55			C	10/29/1999		Wellmark Blue			IA	33.0076	20.0070	2/10/2010	9/0/2010	12/13/10	
100	HTQ11-338- WM-IA-998	ı	В	4/1/2000	10/1/2001	Cross and Blue Shield	95531		IA	39.00%	20.00%	2/10/2010	9/8/2010	12/15/10	
404	LTC-LBP8-		^	4/04/4000					10	20.00%	20.000/	2/40/2040	0/0/2040	40/45/40	
101	MA-IA LTCLBP9MA	ı	Α	4/24/1996					IA	39.00%	20.00%	2/10/2010	9/8/2010	12/15/10	
102		I	Α	4/24/1996					IA	39.00%	20.00%	2/10/2010	9/8/2010	12/15/10	
	NTQ11-337- MA-IA-														
103	401(601)	ı	Α	3/1/2000					IA	39.00%	20.00%	2/10/2010	9/8/2010	12/15/10	
	NTQ11-337-					Wellmark Blue Cross and Blue									
104	WM-IA-998	I	Α	3/1/2000	10/1/2001	Shield	95531		IA	39.00%	20.00%	2/10/2010	9/8/2010	12/15/10	
105	NTQ11337M AIA401	1	Α	3/1/2000					IA	39.00%	20.00%	2/10/2010	9/8/2010	12/15/10	
106	GRP11342M AIA401	G	С	1/1/2003					IA	39.00%	3.00%	2/10/2010	9/8/2010	12/15/10	
100	AIA401	G		1/1/2003					IA	39.0076	3.00 /6	2/10/2010	9/0/2010	12/13/10	
107	LTQ11-336- MA-MO-601	- 1	С	12/1/2002					MO	39.00%	39.00%	3/4/2010	9/7/2010	1/19/2011	
107		•		12/1/2002						33.3373	00.0070	G/ 1/2010	0/1/2010	1710/2011	
108	NTQ11-337- MA-MO-601	1	A	3/1/2003					MO	39.00%	39.00%	3/4/2010	9/7/2010	1/19/2011	
									-						
109	GRP11-342- MA-MO-601	G	С	8/1/2004					МО	39.00%	39.00%	3/4/2010	9/7/2010	1/19/2011	
	LTQ11-336- MA-NC-601														
110	(105)	1	С	1/1/2005					NC	7.50%	7.50%	2/10/2010	9/27/2010	1/19/2011	
111	NTQ11-337- MA-AL-601	1	Α	12/10/2003					AL	39.00%	10.00%	3/24/2010	4/11/2011	8/9/2011	

Row#	Policy Form	*Policy Type	**Policy Category	Date Policy Sold	Date Policy Acquired	Acquired From Company Name	Acquired From Company NAIC	CA Policy	Other State Policy	Increase Requested	Increase Approved	Date Increase Requested	Date Increase Approved	Date Increase Issued	Company Explanation
112	LTQ11-336- MA-AL-601	ı	С	3/12/2003					AL	39.00%	10.00%	3/24/2010	4/11/2011	8/9/2011	
113	HTQ11-338- MA-AL-601 GRP11-342-	I	В	8/29/2003					AL	39.00%	10.00%	3/24/2010	4/11/2011	8/9/2011	
114	MA-CO-601	G	С	8/1/1999					СО	39.00%	10.00%	7/22/2010	11/5/2010	2/15/11	
115	GRP11-342- MA-CO-998 LTQ11-336-	G	С	8/1/1999					СО	39.00%	10.00%	7/22/2010	11/5/2010	2/15/11	
116	MA-CO-601 LTQ11-336-	ı	С	9/1/1999					СО	39.00%	10.00%	7/22/2010	11/5/2010	2/15/11	
117	MA-CO-998 HTQ11-338-	I	С	9/1/1999					СО	39.00%	10.00%	7/22/2010	11/5/2010	2/15/11	
118	MA-CO-601 TNQ11-337-	I	В	8/1/2002					СО	39.00%	10.00%	7/22/2010	11/5/2010	2/15/11	
119	MA-DC-701 TGR11-342-	G	Α	12/15/2003					DC	39.00%	39.00%	2/11/2010	5/26/2011	9/20/2011	
120	MA-DC-701 TLQ11-336-	G	С	11/1/2001					DC	39.00%	39.00%	2/11/2010	5/26/2011	9/20/2011	
121	MA-DC-701 THQ11-338-	G	С	11/1/2001					DC	39.00%	39.00%	2/11/2010	5/26/2011	9/20/2011	
122	MA-DC-701 LTC-G-LBP8-	G	В	9/17/2002					DC	39.00%	39.00%	2/11/2010	5/26/2011	9/20/2011	
123	MED LTC-G-LBP9-		Α	3/1/1996					DC	39.00%	39.00%	2/11/2010	5/26/2011	9/20/2011	
124	MED LTC-G-CD9-	G	Α	3/1/1996					DC	39.00%	39.00%	2/11/2010	5/26/2011	9/20/2011	
125	MED LTC-G-CD9-	G	С	12/21/1995					DC	39.00%	39.00%	2/11/2010	5/26/2011	9/20/2011	
126	MED REV11/97	G	С	12/21/1995					DC	39.00%	39.00%	2/11/2010	5/26/2011	9/20/2011	
127	LTC-G-CD8- MED	G	С	12/21/1995					DC	39.00%	39.00%	2/11/2010	5/26/2011	9/20/2011	
	LTC-CD9- MA-ID		С	3/21/1996					ID	39.00%	15.00%	8/13/2010		9/6/11	
	LTC-CD8-ID GRP11-342-		С	3/21/1996					ID	39.00%	15.00%	8/13/2010		9/6/11	
	MA-NE-601 NTQ11-337-	G	G	9/23/2004					NE	39.00%	15.00%	2/18/2010		5/31/11	
	MA-NE-601 LTQ11-336-	<u> </u>	A	1/1/2003					NE NE	39.00% 39.00%	15.00% 15.00%	2/18/2010		5/31/11	
	MA-NE-601 HTQ11-338- MA-NE-601	<u> </u>	В	7/9/2002 1/19/2004					NE NE	39.00%	15.00%	2/18/2010		5/31/11 5/31/11	
133	IVIA-INE-6U1	ı	D	1/19/2004					NE	39.00%	15.00%	2/18/2010	1/28/2011	5/37/11	

Row#	Policy Form	*Policy Type	**Policy Category	Date Policy Sold	Date Policy Acquired	Acquired From Company Name	Acquired From Company NAIC	CA Policy	Other State Policy	Increase Requested	Increase Approved	Date Increase Requested	Date Increase Approved	Date Increase Issued	Company Explanation
	LTQ11-336-			- / - /								- //		- 4 4	
134	MA-OK-601 NTQ11-337-	ı	С	8/1/2003					OK	39.00%	10.00%	6/14/2010	10/18/2010	2/15/11	
135	MA-SC-998	1	Α	4/2/2004					sc	39.00%	20.00%	6/16/2010	11/12/2010	2/15/11	
400	LTQ11-336-		)	4/4/2000					00	20.000/	20.000/	C/4.C/204.0	44/40/0040	0/45/44	
136	MA-SC-998 HTQ11-338-	- 1	С	1/1/2000		+			SC	39.00%	20.00%	6/16/2010	11/12/2010	2/15/11	
137	MA-SC-998	ı	В	5/1/2002					SC	39.00%	20.00%	6/16/2010	11/12/2010	2/15/11	
138	LTC-CD9- MA-SC	ı	С	2/1/2000					sc	39.00%	20.00%	6/16/2010	11/12/2010	2/15/11	
	GRP11-342-														
139	MA-TN-200 GRP11-342-	G	С	3/1/2005					TN	39.00%	25.00%	8/5/2010	3/4/2011	5/31/11	
	MA-TN-200														
140	(REV 601)	G	С	4/1/2005					TN	39.00%	25.00%	8/5/2010	3/4/2011	5/31/11	
	LTQ11-336-														
141	MA-TN-1100	I	С	7/11/2003					TN	39.00%	25.00%	8/5/2010	3/4/2011	5/31/11	
	HTQ11-338-														
142	MA-TN-1100	1	В	4/1/2003					TN	39.00%	25.00%	8/5/2010	3/4/2011	5/31/11	
	GRP11-341-														
143	MA-WA- 1100	G	С	3/1/2003					WA	39.00%	38.10%	8/16/2010	11/1/2010	2/15/11	
144	NTQ11-337- MA-WA-601	- 1	Α	5/1/2003					WA	39.00%	29.70%	8/16/2010	11/1/2010	2/15/11	
1.77	WILL WAY COT		/\	0/1/2000					**/	00.0070	20.7070	0/10/2010	11/1/2010	2/10/11	
145	LTQ11-336- MA-WA-601	ı	С	1/1/2003					WA	39.00%	29.70%	8/16/2010	11/1/2010	2/15/11	
145	IVIA-VVA-60 I	ı		1/1/2003					VVA	39.00%	29.7076	6/16/2010	11/1/2010	2/15/11	
	HTQ11-338-														
146	MA-WA-601	ı	В	3/26/2003					WA	39.00%	29.70%	8/16/2010	11/1/2010	2/15/11	
	LTQ11-336-														
147	MA-GA-1100	ı	С	1/14/2003					GA	20.90%	10.00%	2/18/2011	4/6/2011	8/14/2011	
	HTQ11-338-														
148	MA-GA-1100	- 1	В	5/29/2002					GA	20.90%	10.00%	2/18/2011	4/6/2011	8/14/2011	
149	LTQ11-336- MA-KS-601	ı	С	10/28/02					KS	39.00%	10.00%	4/1/2010	5/26/2011	9/6/2011	
	NTQ11-337-	-													
150	MA-KS-601 GRP11-342-	ı	A	4/1/03					KS	39.00%	10.00%	4/1/2010	5/26/2011	9/6/2011	
151	MA-KS-601	G	С	10/1/02					KS	39.00%	10.00%	4/1/2010	5/26/2011	9/6/2011	

Row#	Policy Form	*Policy Type	**Policy Category	Date Policy Sold	Date Policy Acquired	Acquired From Company Name	Acquired From Company NAIC	CA Policy	Other State Policy	Increase Requested	Increase Approved	Date Increase Requested	Date Increase Approved	Date Increase Issued	Company Explanation
152	TGR11342M ATN601	G	С	7/1/03					TN	39.00%	30.00%	8/5/2010	4/6/2011	10/4/2011	
153	GRP11-342- MA-HI-1100 LTQ11-336-	G	С	8/1/2003					НІ	39.00%	20.00%	3/2/2010	6/7/2011	12/13/2011	
154	MA-HI-1100 LTC-CD9-BC-	G	С	8/12/2002					HI	39.00%	20.00%	3/2/2010	7/5/2011	12/13/2011	
155	WI LTQ11-336-	1	С	11/30/1998					WI	39.00%	10.00%	12/13/2010	11/15/2011	3/13/2012	
156	MA-WI-601 LTQ11336WI	1	С	2/15/2000					WI	39.00%	27.68%	12/13/2010	9/6/2011	1/17/2012	
157	998 NTQ11-337-	1	С	2/15/2000					WI	39.00%	27.68%	12/13/2010	9/6/2011	1/17/2012	
158	MA-WI-601 GRP11-342-	1	А	11/1/2003					WI	39.00%	18.60%	12/13/2010	9/6/2011	1/17/2012	
	MA-WI-601 LTCCD8IA	G	C C	3/1/2001 5/10/1996					WI IA	39.00% 7.00%	28.65% 7.00%	12/13/2010 9/15/2011	9/6/2011 11/8/2011	1/17/2012 3/13/2012	
	LTCCD9MAI A		С	5/10/1996					IA	7.00%	7.00%	9/15/2011	11/8/2011	3/13/2012	
162	LTC-LBP8- MA-IA	ı	A	4/24/1996					IA	7.00%	7.00%	9/15/2011	11/8/2011	3/13/2012	
163	LTCLBP9MA IA	ı	A	4/24/1996					IA	7.00%	7.00%	9/15/2011	11/8/2011	3/13/2012	
164	GPR11-342- MA-ND-601	G	С	8/1/2001					ND	17.80%	12.00%	11/10/2011	12/22/2011	4/24/2012	
	GPR11-342- MA-ND-														
	601(REV) NTQ11-337-		C .	8/1/2001					ND	17.80%	12.00%	11/10/2011	12/22/2011	4/24/2012	
166	MA-ND-601 NTQ11-337-	ı	A	10/24/2001					ND	17.80%	12.00%	11/10/2011	12/22/2011	4/24/2012	
167	MA-ND- 601(REV)	1	A	10/24/2001					ND	17.80%	12.00%	11/10/2011	12/22/2011	4/24/2012	
168	LTQ11-336- MA-ND-601 (REV)		С	6/5/2001					ND	17.80%	12.00%	11/10/2011	12/22/2011	4/24/2012	
169	HTQ11-338- MA-ND-601		В	3/20/2001					ND	17.80%	12.00%	11/10/2011	12/22/2011	4/24/2012	
170	LTCCD9MA MS	ı I	С	2/1/1998					MS	11.20%	11.20%	11/4/2011	1/6/2012	7/3/2012	
	LTQ11-336- MA-MS-998														
171	(TAX QUALIFIED)	ı	С	3/1/1999					MS	11.20%	11.20%	11/4/2011	3/6/2012	7/3/2012	

Row#		*Policy Type	**Policy Category	Date Policy Sold	Date Policy Acquired	Acquired From Company Name	Acquired From Company NAIC	CA Policy	Other State Policy	Increase Requested	Increase Approved	Date Increase Requested	Date Increase Approved	Date Increase Issued	Company Explanation
	HTQ11-338- MA-MS-998 (TAX-														
172	QUALIFIED)	I	В	2/5/2001					MS	11.20%	11.20%	11/4/2011	3/6/2012	7/3/2012	
173	LTCLBP9MA MS	I	А	2/1/1999					MS	11.20%	11.20%	11/4/2011	1/6/2012	7/3/2012	
	NTQ11-337- MA-MS-998 (TAX-														
174	QUALIFIED)	ı	A	9/1/2001					MS	11.20%	11.20%	11/4/2011	3/6/2012	7/3/2012	
175	LTCGACD9 MAILMS	G	С	2/1/1998					MS	11.20%	11.20%	11/4/2011	1/6/2012	7/3/2012	
176	LTCCD8MD		С	10/8/1996					MD	15.00%	15.00%	11/4/2011	5/8/2012	8/21/2012	
177	LTC-CD9- MA-MD	I	С	10/8/1996					MD	15.00%	15.00%	11/4/2011	5/8/2012	8/21/2012	
178	LTQ11-336- MA-MD-601	I	С	1/4/2002					MD	15.00%	15.00%	11/4/2011	5/8/2012	8/21/2012	
179	LTQ11336M AMD1100	I	С	1/4/2002					MD	15.00%	15.00%	11/4/2011	5/8/2012	8/21/2012	
180	HTQ11-338- MA-MD-601	I	В	7/24/2002					MD	15.00%	15.00%	11/4/2011	5/8/2012	8/21/2012	
181	HTQ11338M AMD1100	I	В	7/24/2002					MD	15.00%	15.00%	11/4/2011	5/8/2012	8/21/2012	
182	LTCLBP9MD	I	А	12/31/1996					MD	15.00%	15.00%	11/4/2011	5/8/2012	8/21/2012	
183	NTQ11-337- MA-MD-601	I	А	2/17/2004					MD	15.00%	15.00%	11/4/2011	5/8/2012	8/21/2012	
184	GRP11-342- MA-MD-601	G	С	4/1/2003					MD	15.00%	15.00%	11/4/2011	5/8/2012	8/21/2012	
185	LTQ11-336- MA-AZ-601	I	С	7/1/2002					ΑZ	39.00%	39.00%	10/17/2011	5/14/2012	9/4/2012	
186	LTQ11336M AAZ998	I	С	12/1/2000					AZ	39.00%	39.00%	10/17/2011	5/14/2012	9/4/2012	
187	HTQ11338M AAZ998	ı	В	12/19/2001					AZ	39.00%	39.00%	10/17/2011	5/14/2012	9/4/2012	
188	HTQ11-338- MA-AZ-601	ı	В	4/1/2003					AZ	39.00%	39.00%	10/17/2011	5/14/2012	9/4/2012	
189	NTQ11-337- MA-AZ-601		A	10/23/2003					AZ	39.00%	39.00%	10/17/2011	5/14/2012	9/4/2012	
190	NTQ11-337- MA-AL-601	I	A	12/10/2003					AL	26.40%	26.40%	4/11/2012	9/4/2012	12/5/2012	
191	LTQ11-336- MA-AL-601	I	С	3/12/2003					AL	26.40%	26.40%	4/11/2012	9/4/2012	12/5/2012	
192	HTQ11-338- MA-AL-601	<u> </u>	В	8/29/2003					AL	26.40%	26.40%	4/11/2012	9/4/2012	12/5/2012	

							Acquired From		Other						
Row#	Policy Form	*Policy Type	**Policy Category	Date Policy Sold	Date Policy Acquired	Acquired From Company Name	Company NAIC	CA Policy	State Policy	Increase Requested	Increase Approved	Date Increase Requested	Date Increase Approved	Date Increase Issued	Company Explanation
	GRP11-342- MA-HI-1100	G	С	8/1/2003					Ξ	15.80%	0.00%	9/6/2012	8/26/2013	N/A	
	LTQ11-336-														
	MA-HI-1100	G	С	8/12/2002					HI	15.80%	0.00%	9/6/2012	8/26/2013	N/A	
	GRP11-342-	0		0/00/0004					NE	20.000/	20.000/	4/44/2042	40/40/2042	4/0/2042	
	MA-NE-601 NTQ11-337-	G	G	9/23/2004					NE	20.90%	20.90%	4/11/2012	12/18/2012	4/9/2013	
	MA-NE-601	- 1	A	1/1/2003					NE	20.90%	20.90%	4/11/2012	10/2/2012	1/22/2013	
	LTQ11-336-														
	MA-NE-601	I	С	7/9/2002					NE	20.90%	20.90%	4/11/2012	10/2/2012	1/22/2013	
	HTQ11-338- MA-NE-601	ı	В	1/19/2004					NE	20.90%	20.90%	4/11/2012	10/2/2012	1/22/2013	
	LTQ11-336- MA-OR-601	1	С	8/12/2003					OR	15.80%	15.80%	11/10/2011	12/11/2013	8/5/2014	
	GRP11-342-	- '	0	0/12/2003					OIX	13.0070	13.00 /0	11/10/2011	12/11/2013	0/3/2014	
	MA-OR-200	G	С	9/1/2003					OR	15.80%	15.80%	11/10/2011	12/11/2013	8/5/2014	
	GRP11-342- MA-OR-601	G	С	9/1/2003					OR	15.80%	15.80%	11/10/2011	12/11/2013	8/5/2014	
	LTQ11-336-		C	9/1/2003					OIX	13.0070	13.00 /0	11/10/2011	12/11/2013	0/3/2014	
	MA-MT-601	1	С	1/20/2003					MT	17.80%	17.80%	11/10/2011	10/10/2012	2/5/2013	
	NTQ11-337-														
	MA-MT-601	I	A	3/23/2004					MT	17.80%	17.80%	11/10/2011	10/10/2012	2/5/2013	
	GRP11-342- MA-MT-601	G	С	5/1/2002					MT	20.90%	20.90%	11/10/2011	10/10/2012	2/5/2013	
	GRP11342M														
	AMT200	G	С	5/1/2002					MT	20.90%	20.90%	11/10/2011	10/10/2012	2/5/2013	
	SPL-336	<u>!</u>	С	7/23/2004					AK	51.00%	51.00%	2/19/2013	3/8/2013	7/30/2013	% of increase based on average
	SPL-336 SPL-336	<u> </u>	C	5/25/2004 5/13/2004					AL AR	43.00% 34.00%	43.00% 15.40%	12/17/2012 1/22/2013	4/22/2013 6/19/2015	7/30/2013 9/11/2015	% of increase based on average
	SPL-336	<u> </u>	C	4/12/2004					AZ	38.00%	38.00%	1/2/2013	3/1/2013	8/30/2013	% of increase based on average % of increase based on average
	SPL-336	<del>-                                    </del>	С	7/25/2007				CA	AZ	15.00%	0.00%	5/28/2013	3/1/2016	N/A	% of increase based on average
	SPL-336-N	<u> </u>	A	7/25/2007				CA		15.00%	0.00%	5/28/2013	3/1/2016	N/A	% of increase based on average
	SPL-336	i	C	3/1/2004				0,1	СО	40.00%	40.00%	8/30/2013		6/20/2014	% of increase based on average
	SPL-336	i	C	3/31/2004					CT	37.00%	0.00%	1/16/2013		N/A	% of increase based on average
	SPL-336	i	C	3/16/2005					GA	36.00%	17.00%	12/27/2012	2/25/2013	7/6/2013	% of increase based on average
	SPL-336	i	C	5/6/2004					HI	39.00%	11.60%	12/13/2012		3/20/2018	% of increase based on average
-	SPL-336	i	С	2/11/2004					IA	37.00%	37.00%	12/11/2012	6/26/2013	10/1/2013	% of increase based on average
	SPL-336	i	C	6/29/2004					ID	39.00%	24.00%	1/2/2013		8/30/2013	% of increase based on average
	SPL-336	Ī	C	3/1/2004					IL	40.00%	40.00%	11/27/2012	5/27/2014	11/4/2014	% of increase based on average
	SPL-336	ı	C	9/1/2004					IN	39.00%	0.00%	12/12/2012	4/15/2013	N/A	% of increase based on average
	SPL-336	i	C	3/11/2004					KY	37.00%	37.00%	12/17/2012	2/4/2013	6/6/2013	% of increase based on average
	SPL-336	П	С	6/8/2004					LA	38.00%	19.70%	12/27/2012	9/22/2014	12/29/2014	% of increase based on average
	SPL-336	ı	С	10/7/2005					MD	22.00%	15.00%	1/1/2013	7/29/2013	6/20/2014	% of increase based on average
	SPL-336	ı	C	2/24/2004					ME	43.00%	43.00%	8/16/2013		10/21/2014	% of increase based on average

Row#	Policy Form	*Policy Type	**Policy Category	Date Policy Sold	Date Policy Acquired	Acquired From Company Name	Acquired From Company NAIC	CA Policy	Other State Policy	Increase Requested	Increase Approved	Date Increase Requested	Date Increase Approved	Date Increase Issued	Company Explanation
224	SPL-336	ı	С	3/4/2004					MI	36.00%	36.00%	11/27/2012	12/18/2012	6/6/2013	% of increase based on average
225	SPL-336	I	С	3/9/2004					MN	38.00%	0.00%	1/14/2013	11/12/2013	N/A	% of increase based on average
226	SPL-336	I	С	6/15/2004					MO	35.00%	20.00%	5/6/2013	11/20/2013	10/21/2014	% of increase based on average
227	SPL-336	ı	С	4/22/2004					MS	41.00%	24.00%	1/22/2013	3/29/2013	7/16/2013	% of increase based on average
228	SPL-336	I	С	5/6/2004					MT	38.00%	11.00%	12/11/2012	3/21/2013	7/16/2013	% of increase based on average
229	SPL-336	I	С	5/21/2004					NC	38.00%	15.10%	3/18/2013	10/28/2013	6/20/2014	% of increase based on average
230	FSPL-336	I	С	5/21/2004					NC	38.00%	15.10%	3/18/2013	10/28/2013	6/20/2014	% of increase based on average
231	SPL-336		С	1/28/2004					ND	37.00%	19.00%	1/7/2013	3/14/2013	7/5/2013	% of increase based on average
232	SPL-336		С	2/9/2004					NE	34.00%	19.10%	12/17/2012	9/13/2013	6/20/2014	% of increase based on average
233	SPL-336		С	6/4/2004					NH	43.00%	43.00%	1/16/2013	4/16/2013	7/23/2013	% of increase based on average
234	SPL-336	I	С	6/17/2004					NM	38.00%	0.00%	1/9/2013	12/31/2014	N/A	% of increase based on average
235	SPL-336		С	9/19/2004					NV	37.00%	37.00%	1/28/2013	9/9/2013	6/20/2014	% of increase based on average
236	SPL-336	ı	С	2/6/2004					OH	35.00%	29.00%	12/27/2012	1/23/2014	6/20/2014	% of increase based on average
237	SPL-336-MA	ı	С	11/5/2004					OK	35.00%	16.00%	1/25/2013	4/26/2013	7/30/2013	% of increase based on average
238	SPL-336	I	С	8/1/2004					OR	38.00%	15.10%	1/18/2013	12/19/2013	6/20/2014	% of increase based on average
239	SPL-336		С	4/1/2004					PA	38.00%	19.00%	1/14/2013	6/4/2013	8/30/2013	% of increase based on average
240	FSPL-336	ı	С	4/1/2004					PA	38.00%	19.00%	1/14/2013	6/4/2013	8/30/2013	% of increase based on average
241	SPL-336		С	5/5/2004					RI	31.00%	0.00%	1/16/2013	7/12/2017	N/A	% of increase based on average
242	SPL-336	ı	С	4/21/2004					SC	40.00%	18.00%	12/28/2012	4/11/2013	7/23/2013	% of increase based on average
243	SPL-336	- 1	С	3/17/2004					SD	35.00%	35.00%	1/16/2013	2/15/2013	6/6/2013	% of increase based on average
244	SPL-336	ı	С	3/19/2004					TN	39.00%	39.00%	11/27/2012	2/8/2013	7/5/2013	% of increase based on average
245	SPL-336		С	11/8/2004					TX	38.00%	38.00%	1/4/2013	4/10/2013	7/23/2013	% of increase based on average
246	LSPL-336		С	11/8/2004					TX	38.00%	38.00%	1/4/2013	4/10/2013	7/23/2013	% of increase based on average
247	SPL-336	I	С	6/5/2004					UT	46.00%	46.00%	3/7/2013	5/13/2013	8/30/2013	% of increase based on average
248	SPL-336		С	6/18/2004					VA	37.00%	0.00%	1/28/2013	6/21/2017	N/A	% of increase based on average
249	SPL-336	I	С	6/5/2004					VT	39.00%	0.00%	1/22/2013	3/23/2015	N/A	% of increase based on average
250	SPL-336		С	7/19/2004					WA	37.00%	37.00%	2/19/2013	4/25/2013	7/30/2013	% of increase based on average
	SPL-336		С	7/19/2004					WI	37.00%	37.00%	1/10/2013	3/14/2013	7/5/2013	% of increase based on average
252	SPL-336	-	С	2/1/2006					WV	41.00%	41.00%	3/27/2013	8/12/2013	6/20/2014	% of increase based on average
253	SPL-336		С	3/16/2005					GA	17.00%	15.00%	3/28/2014	8/22/2014	12/13/2014	% of increase based on average
254	SPL-336	ı	С	6/29/2004					ID	12.00%	12.00%	4/11/2014	12/4/2014	3/28/2015	% of increase based on average
255	SPL-336	I	С	2/9/2004					NE	13.00%	13.00%	4/4/2014	6/18/2014	6/20/2015	% of increase based on average
256	SPL-336-MA	1	С	11/5/2004					OK	16.00%	16.00%	4/11/2014	7/3/2014	11/4/2014	% of increase based on average
257	SPL-336	I	С	4/1/2004	-				PA	16.00%	7.80%	4/23/2014	9/17/2014	12/16/2014	% of increase based on average
258	FSPL-336	I	С	4/1/2004					PA	16.00%	7.80%	4/23/2014	9/17/2014	12/16/2014	% of increase based on average
259	SPL-336	ı	С	4/21/2004					SC	19.00%	17.20%	3/28/2014	9/2/2014	12/13/2014	% of increase based on average
260	GRP11-342- MA-CO-601	G	С	8/1/1999					СО	26.40%	26.40%	8/30/2013	10/28/2013	7/21/2014	
261	GRP11-342- MA-CO-998	G	С	8/1/1999					СО	26.40%	26.40%	8/30/2013	10/28/2013	7/21/2014	

Row#	Policy Form	*Policy Type	**Policy Category	Date Policy Sold	Date Policy Acquired	Acquired From Company Name	Acquired From Company NAIC	CA Policy	Other State Policy	Increase Requested	Increase Approved	Date Increase Requested	Date Increase Approved	Date Increase Issued	Company Explanation
262	LTQ11-336- MA-CO-601	ı	С	9/1/1999					СО	26.40%	26.40%	8/30/2013	10/28/2013	7/21/2014	
263	LTQ11-336- MA-CO-998	I	С	9/1/1999					СО	26.40%	26.40%	8/30/2013	10/28/2013	7/21/2014	
264	HTQ11-338- MA-CO-601	I	В	8/1/2002					СО	26.40%	26.40%	8/30/2013	10/28/2013	7/21/2014	
265	LTQ11-336- MA-GA-1100	I	С	1/14/2003					GA	9.90%	9.90%	12/13/2013	12/23/2013	7/21/2014	
266	HTQ11-338- MA-GA-1100	I	В	5/29/2002					GA	9.90%	9.90%	12/13/2013	12/23/2013	7/21/2014	
267	NTQ11-337- MA-WA-601	I	А	5/1/2003					WA	7.20%	7.20%	12/13/2013	1/31/2014	7/21/2014	
268	LTQ11-336- MA-WA-601	ı	С	1/1/2003					WA	7.20%	7.20%	12/13/2013	1/31/2014	7/21/2014	
269	HTQ11-338- MA-WA-601	I	В	3/26/2003					WA	7.20%	7.20%	12/13/2013	1/31/2014	7/21/2014	
270	LTQ11-336- MA-WI-601	I	С	2/15/2000					WI	9.20%	9.20%	2/10/2014	3/5/2014	12/23/2014	% of increase based on average
271	LTQ11336WI 998	I	С	2/15/2000					WI	9.20%	9.20%	2/10/2014	3/5/2014	12/23/2014	% of increase based on average
272	NTQ11-337- MA-WI-601	ı	Α	11/1/2003					WI	17.20%	17.20%	2/10/2014	3/5/2014	7/21/2014	
273	LTC-CD9-BC- WI		С	11/30/1998					WI	10.00%	10.00%	2/10/2014	2/18/2014	7/21/2014	
	GRP11-342- MA-WI-601 LTCCD8IA	G	C	3/1/2001 5/10/1996					WI IA	8.00% 8.30%	8.00% 8.30%	2/10/2014		7/21/2014 7/21/2014	
276	LTCCD9MAI A		С	5/10/1996					IA	8.30%	8.30%	2/10/2014		7/21/2014	
277	LTC-LBP8- MA-IA		A	4/24/1996					IA	8.30%	8.30%	2/10/2014	3/27/2014	7/21/2014	
278	IA LTO44 000	I	Α	4/24/1996					IA	8.30%	8.30%	2/10/2014	3/27/2014	7/21/2014	
279	LTQ11-336- MA-IA- 401(601)	I	С	10/29/1999					IA	15.80%	15.80%	2/10/2014	3/27/2014	7/21/2014	
280	LTQ11-336- WM-IA-998	I	С	11/1/1999	10/1/2001	Wellmark Blue Cross and Blue Shield	95531		IA	15.80%	15.80%	2/10/2014	3/27/2014	7/21/2014	

							Acquired								
		*Policy	**Policy	Date Policy	Date Policy	Acquired From	From	CA	Other State	Increase	Increase	Date Increase	Date Increase	Date Increase	
Row#	Policy Form	Type	Category	Sold	Acquired	Company Name	NAIC	Policy	Policy	Requested	Approved	Requested	Approved	Issued	Company Explanation
281	LTQ11336M AIA401	ı	С	10/29/1999					IA	15.80%	15.80%	2/10/2014	3/27/2014	7/21/2014	
282	HTQ11-338- WM-IA-998	1	В	4/1/2000	10/1/2001	Wellmark Blue Cross and Blue Shield	95531		IA	15.80%	15.80%	2/10/2014	3/27/2014	7/21/2014	
202	NTQ11-337- MA-IA-	•		17 172000	10/1/2001		00001			10.0070	10.0070	2/10/2011	GIZITZOTT	772172011	
283	401(601)	ı	A	3/1/2000					IA	15.80%	15.80%	2/10/2014	3/27/2014	7/21/2014	
284	NTQ11-337- WM-IA-998	1	A	3/1/2000	10/1/2001	Wellmark Blue Cross and Blue Shield	95531		IA	15.80%	15.80%	2/10/2014	3/27/2014	7/21/2014	
	NTQ11337M				10/1/2001	Officia	33331								
285	AIA401 GRP11342M	ı	Α	3/1/2000					IA	15.80%	15.80%	2/10/2014	3/27/2014	7/21/2014	
286	AIA401	G	С	1/1/2003					IA	35.00%	17.00%	2/10/2014	4/4/2014	7/21/2014	
287	GPR11-342- MA-ND-601	G	С	8/1/2001					ND	5.20%	5.20%	4/15/2014	5/21/2014	12/2/2014	
	GPR11-342-														
288	MA-ND- 601(REV)	G	С	8/1/2001					ND	5.20%	5.20%	4/15/2014	5/21/2014	12/2/2014	
	GRP11-342- MA-TN-200														
289	(REV 601)	G	С	4/1/2005					TN	11.20%	11.20%	2/10/2014	5/21/2014	11/11/2014	
	LTQ11-336-														
290	MA-TN-1100	ı	С	7/11/2003					TN	11.20%	11.20%	2/10/2014	5/21/2014	11/11/2014	
	HTQ11-338-														
291	MA-TN-1100	ı	В	4/1/2003					TN	11.20%	11.20%	2/10/2014	5/21/2014	11/11/2014	
	LTQ11-336- MA-NC-601														
292	(105)	ı	С	1/1/2005					NC	39.00%	15.00%	3/13/2014	6/18/2014	11/11/2014	
293	LTQ11-336- MA-NJ-998	1	С	6/14/2010					NJ	15.80%	15.00%	2/24/2014	8/22/2014	12/9/2014	
204	NTQ11-337-		^	4/07/0004					NI I	1E 000/	0.000/	0/04/0044	0/22/2014	NI/A	
	MA-NJ-998 LTCCD8MD		A C	1/27/2004 10/8/1996					NJ MD	15.80% 5.10%	0.00% 5.10%	2/24/2014 2/24/2014	8/22/2014 12/4/2014	N/A 3/28/2015	
	LTC-CD9-														
296	MA-MD	I	С	10/8/1996					MD	5.10%	5.10%	2/24/2014	12/4/2014	3/28/2015	
297	LTQ11-336- MA-MD-601	ı	С	1/4/2002					MD	5.10%	5.10%	2/24/2014	12/4/2014	3/28/2015	
298	LTQ11336M AMD1100	1	С	1/4/2002					MD	5.10%	5.10%	2/24/2014	12/4/2014	3/28/2015	
	HTQ11-338-														
299	MA-MD-601	I	В	7/24/2002					MD	5.10%	5.10%	2/24/2014	12/4/2014	3/28/2015	

Row#	Policy Form	*Policy Type	**Policy Category	Date Policy Sold	Date Policy Acquired	Acquired From Company Name	Acquired From Company NAIC	CA Policy	Other State Policy	Increase Requested	Increase Approved	Date Increase Requested	Date Increase Approved	Date Increase Issued	Company Explanation
300	HTQ11338M AMD1100	1	В	7/24/2002					MD	5.10%	5.10%	2/24/2014	12/4/2014	3/28/2015	
301	LTCLBP9MD NTQ11-337-	I	А	12/31/1996					MD	5.10%	5.10%	2/24/2014	12/4/2014	3/28/2015	
302	MA-MD-601	I	A	2/17/2004					MD	5.10%	5.10%	2/24/2014	12/4/2014	3/28/2015	
303	NTQ11-337- MA-ND-601	1	А	10/24/2001					ND	5.20%	5.20%	2/24/2014	5/2/2014	12/2/2014	
304	NTQ11-337- MA-ND- 601(REV)	1	A	10/24/2001					ND	5.20%	5.20%	2/24/2014	5/2/2014	12/2/2014	
305	LTQ11-336- MA-ND-601 (REV)	1	С	6/5/2001					ND	5.20%	5.20%	2/24/2014	5/2/2014	12/2/2014	
306	HTQ11-338- MA-ND-601		В	3/20/2001					ND	5.20%	5.20%	2/24/2014	5/2/2014	12/2/2014	
307	14515-SD	1	С	5/25/2000	12/31/2008	Combined Insurance Company of America	62146		SD	38.00%	38.00%	12/26/2013	1/6/2014	7/21/2014	Prior approval not required
308	14515-MI	1	С	7/1/1998	12/31/2008	Combined Insurance Company of America	62146		MI	38.00%	38.00%	1/24/2014	2/3/2014	7/28/2014	Prior approval not required
309	14515-SC	1	С	6/1/2000	12/31/2008	Combined Insurance Company of America	62146		sc	38.00%	20.00%	12/26/2013	3/17/2014	7/21/2014	
310	14515-TN		С	2/1/1998	12/31/2008	Combined Insurance Company of America	62146		TN	38.00%	38.00%	12/10/2013		7/28/2014	
	14515-MO		С	2/1/1998	12/31/2008	Combined Insurance Company of America	62146		MO	38.00%	20.00%	2/4/2014		7/28/2014	
312	14515-DE	I	С	3/1/2001	12/31/2008	Combined Insurance Company of America	62146		DE	30.00%	30.00%	3/3/2014	4/2/2014	10/11/2014	Preapproved 2 year 30% then 6.2%
313	14515-WI	I	С	12/1/1997	12/31/2008	Combined Insurance Company of America	62146		WI	24.20%	24.20%	1/23/2014	3/6/2014	12/23/2014	% of increase based on average

Row#	Policy Form	*Policy Type	**Policy Category	Date Policy Sold	Date Policy Acquired	Acquired From Company Name	Acquired From Company NAIC	CA Policy	Other State Policy	Increase Requested	Increase Approved	Date Increase Requested	Date Increase Approved	Date Increase Issued	Company Explanation
314	14515-KY	I	С	2/17/1998	12/31/2008	Combined Insurance Company of America	62146		KY	38.00%	13.60%	1/24/2014	4/7/2014	10/28/2014	
315	14515-WA	ı	С	7/1/1999	12/31/2008	Combined Insurance Company of America	62146		WA	38.00%	38.00%	1/28/2014	4/15/2014	7/28/2014	Prior approval not required
316	14515-IA	ı	С	6/1/1998	12/31/2008	Combined Insurance Company of America	62146		IA	38.00%	17.00%	1/31/2014	4/4/2014	7/21/2014	
317	14515-OR	ı	С	5/1/1999	12/31/2008	Combined Insurance Company of America	62146		OR	38.00%	17.50%	3/28/2014	5/13/2014	10/28/2014	
318	14515-PA	ı	С	2/18/1999	12/31/2008	Combined Insurance Company of America	62146		PA	38.00%	15.00%	2/11/2014	5/13/2014	10/28/2014	
319	14515-OK	ı	С	4/1/1999	12/31/2008	Combined Insurance Company of America	62146		OK	38.00%	25.00%	2/18/2014	6/4/2014	10/28/2014	
320	14515-KS	I	С	8/1/1999	12/31/2008	Combined Insurance Company of America	62146		KS	38.00%	38.00%	1/29/2014	6/6/2014	10/11/2014	
321	14515-WV	ı	С	11/1/1998	12/31/2008	Combined Insurance Company of America	62146		WV	38.00%	15.00%	3/18/2014	8/6/2014	10/28/2014	
322	14515-NE	ı	С	12/1/1998	12/31/2008	Combined Insurance Company of America	62146		NE	38.00%	38.00%	1/29/2014	8/11/2014	10/28/2014	
323	14515-IL	ı	С	12/1/1997	12/31/2008	Combined Insurance Company of America	62146		IL	38.00%	38.00%	12/13/2013	8/15/2014	12/2/2014	
324	14515-GA	I	С	4/1/1999	12/31/2008	Combined Insurance Company of America	62146		GA	38.00%	15.00%	1/23/2014		12/2/2014	

Row#	Policy Form	*Policy Type	**Policy Category	Date Policy Sold	Date Policy Acquired	Acquired From Company Name	Acquired From Company NAIC	CA Policy	Other State Policy	Increase Requested	Increase Approved	Date Increase Requested	Date Increase Approved	Date Increase Issued	Company Explanation
325	14515-ID	-	O	3/1/1998	12/31/2008	Combined Insurance Company of America	62146		ID	38.00%	20.00%	1/23/2014	11/12/2014	1/26/2015	
326	14515-NH	I	С	10/1/1998	12/31/2008	Combined Insurance Company of America	62146		NH	38.00%	29.90%	1/24/2014	3/23/2015	7/18/2015	% of increase based on average
327	14515-OH	ı	С	4/1/1998	12/31/2008	Combined Insurance Company of America	62146		ОН	38.00%	25.00%	1/24/2014	4/24/2015	7/11/2015	
328	14515-VT	ı	С	4/1/1999	12/31/2008	Combined Insurance Company of America	62146		VT	38.00%	0.00%	1/24/2014	3/23/2015	N/A	
329	14515-CT	I	С	7/21/1999	12/31/2008	Combined Insurance Company of America	62146		СТ	38.00%	0.00%	1/28/2014	2/26/2014	N/A	
330	14515-NV	I	С	6/1/1999	12/31/2008	Combined Insurance Company of America	62146		NV	38.00%	17.50%	1/28/2014	10/15/2014	1/3/2015	Preapproved 2 year 17.5% per year
331	14515-LA	I	С	1/1/1999	12/31/2008	Combined Insurance Company of America	62146		LA	38.00%	20.00%	4/9/2014	11/13/2014	1/26/2015	
332	14515-ME	ı	С	10/10/2000	12/31/2008	Combined Insurance Company of America	62146		ME	38.00%	15.00%	6/3/2014	2/27/2015	6/21/2015	Preapproved 2 year 15% then 6.1%
333	14515-NC	ı	С	5/1/1998	12/31/2008	Combined Insurance Company of America	62146		NC	38.00%	20.00%	7/1/2014	9/26/2014	12/29/2014	
	14515-TX	ı	С	2/17/1999	12/31/2008	Combined Insurance Company of America	62146		TX	38.00%	19.00%	7/2/2014		12/9/2014	
	14515-MO	ı	С	2/1/1998	12/31/2008	Combined Insurance Company of America	62146		MO	15.00%	15.00%	5/1/2015		8/4/2015	

Row#	Policy Form	*Policy Type	**Policy Category	Date Policy Sold	Date Policy Acquired	Acquired From Company Name	Acquired From Company NAIC	CA Policy	Other State Policy	Increase Requested	Increase Approved	Date Increase Requested	Date Increase Approved	Date Increase Issued	Company Explanation
336	14515-WY	I	С	12/1/1997	12/31/2008	Combined Insurance Company of America	62146		WY	38.00%	38.00%	5/5/2015	5/19/2015	8/4/2015	
337	14515-AR	ı	С	6/1/1999	12/31/2008	Combined Insurance Company of America	62146		AR	17.50%	17.50%	5/20/2015	6/19/2015	9/15/2015	
338	14515-PA	ı	С	2/18/1999	12/31/2008	Combined Insurance Company of America	62146		PA	20.00%	20.00%	4/27/2015	6/24/2015	10/30/2015	
	44515		С	3/1/1999	12/31/2008	Combined Life Insurance Company of New York	78697		NY	15.00%	15.00%	12/23/2014		10/12/2015	
340	14515-GA	ı	С	4/1/1999	12/31/2008	Combined Insurance Company of America	62146		GA	20.00%	8.00%	6/19/2015	7/28/2015	11/29/2015	
341	14515-WV	ı	С	11/1/1998	12/31/2008	Combined Insurance Company of America	62146		WV	20.00%	20.00%	5/19/2015	8/5/2015	10/30/2015	
342	14515-MN	ı	С	9/1/1998	12/31/2008	Combined Insurance Company of America	62146		MN	38.00%	10.70%	12/22/2014	2/5/2016	7/5/2016	
343	14515-OK	ı	С	4/1/1999	12/31/2008	Combined Insurance Company of America	62146		ОК	10.40%	10.40%	5/19/2015	1/25/2016	4/12/2016	
344	14515-IA	ı	С	6/1/1998	12/31/2008	Combined Insurance Company of America	62146		IA	17.95%	17.90%	5/20/2015	9/10/2015	12/21/2015	
345	14515-KY	ı	С	2/17/1998	12/31/2008	Combined Insurance Company of America	62146		KY	21.48%	9.00%	5/20/2015	4/18/2016	7/12/2016	
346	14515-IN	I	С	9/1/1998	12/31/2008	Combined Insurance Company of America	62146		IN	38.00%	9.50%	5/28/2015	8/7/2015	12/21/2015	

							A a su visa al								
							Acquired From		Other						
_		*Policy	**Policy	Date Policy	Date Policy	Acquired From	Company	CA	State	Increase	Increase	Date Increase	Date Increase		
Row #	Policy Form	Type	Category	Sold	Acquired	Company Name	NAIC	Policy	Policy	Requested	Approved	Requested	Approved	Issued	Company Explanation
						Combined									
						Insurance Company of									
347	14515-VA	1	С	2/25/1999	12/31/2008	America	62146		VA	38.00%	0.00%	7/1/2015	8/8/2016	N/A	
						Combined						., .,	0,0,00		
						Insurance									
			_			Company of									
348	14515	I	С	7/1/1999	12/31/2008	America	62146		AR	38.00%	0.00%	12/26/2013	1/23/2014	N/A	
						Combined Insurance									
						Company of									
349	14515-VT	1	С	4/1/1999	12/31/2008	America	62146		VT	38.00%	0.00%	3/4/2015	3/23/2015	N/A	
						Combined									
						Insurance									
250	4.4545.1.0		С	4 /4 /4 000	40/04/0000	Company of	62146			15.00%	0.00%	7/04/0045	40/00/0045	NI/A	
350	14515-LA	ı	C	1/1/1999	12/31/2008	America Combined	02140		LA	15.00%	0.00%	7/24/2015	12/29/2015	N/A	
						Insurance									
						Company of									
351	14515-ID	- 1	С	3/1/1998	12/31/2008	America	62146		ID	15.00%	0.00%	6/29/2015	12/3/2015	N/A	
						Combined									
						Insurance									
352	14515-DE	1	С	3/1/2001	12/31/2008	Company of America	62146		DE	N/A	6.20%	N/A	N/A	10/11/2015	Preapproved from prior filing
332	14313-DL		C	3/1/2001	12/31/2000	Combined	02140		DL	IN/A	0.2070	IN/A	IN/A	10/11/2013	reapproved from prior filling
						Insurance									
						Company of									
353	14515	- 1	С	6/1/1999	12/31/2008	America	62146		NV	N/A	17.50%	N/A	N/A	1/3/2016	Preapproved from prior filing
						Combined									
						Insurance									
354	14515-ME		С	10/1/2000	12/31/2008	Company of America	62146		ME	N/A	6.10%	N/A	N/A	6/21/2016	Preapproved from prior filing
	SPL-336		C	6/15/2004	12/31/2000	, iniciloa	02 140		MO	12.00%	12.00%	9/30/2014		10/21/2015	% of increase based on average
356	SPL-336		C	4/20/2004					DC	38.36%	38.40%	4/28/2015		9/11/2015	% of increase based on average
357	SPL-336		C	5/13/2004					AR	15.40%	15.40%	5/20/2015		9/11/2015	% of increase based on average
358	SPL-336		С	1/21/2004					NY	30.40%	6.00%	1/14/2015		10/23/2015	% of increase based on average
359	SPL-336		С	3/16/2005					GA	1.50%	1.50%	6/23/2015		12/19/2015	% of increase based on average
360	SPL-336	ı	С	4/1/2004					PA	7.58%	7.58%	4/30/2015		12/19/2015	% of increase based on average
361	SPL-336	I	С	3/9/2004					MN	140.00%	15.00%	1/22/2015		9/25/2016	% of increase based on average
	SPL-336		С	9/1/2004					IN	38.53%	0.00%	3/19/2015		N/A	% of increase based on average
363	SPL-336		С	1/28/2004					ND	3.58%	0.00%	7/1/2015		N/A	% of increase based on average
364	SPL2-336		С	7/24/2007					MI	23.22% 23.19%	23.22% 23.19%	6/5/2015		10/13/2015	% of increase based on average
365 366	SPL2-336 SPL2-336		C C	8/15/2007 8/30/2007					WA TX	23.19%	23.19%	6/22/2015 5/20/2015		10/13/2015 10/23/2015	% of increase based on average % of increase based on average
300	JFL2-330	1	U	0/30/2007		1			١٨	24.91%	24.91%	5/20/2015	1/23/2015	10/23/2015	76 of increase based on average

							Acquired From		Other						
		*Policy	**Policy	Date Policy	Date Policy	Acquired From	Company	CA	State	Increase	Increase	Date Increase	Date Increase	Date Increase	
Row#	Policy Form	Туре	Category	Sold	Acquired	Company Name	NAIC	Policy	Policy	Requested	Approved	Requested	Approved	Issued	Company Explanation
367	SPL2-336	I	С	9/18/2007					KS	24.35%	24.35%	7/2/2015	7/24/2015	10/23/2015	% of increase based on average
368	SPL2-336	ı	С	11/12/2007					GA	26.93%	8.00%	6/24/2015	7/28/2015	10/23/2015	% of increase based on average
369	SPL2-336	ı	С	8/31/2007					ΑZ	24.21%	24.21%	7/7/2015	7/29/2015	10/23/2015	% of increase based on average
370	SPL2-336	I	С	10/9/2007					CO	25.89%	25.89%	6/9/2015	7/31/2015	10/23/2015	% of increase based on average
371	SPL2-336	ı	С	7/14/2007					ND	25.81%	14.70%	5/20/2015	8/11/2015	11/3/2015	% of increase based on average
372	SPL2-336	ı	С	12/1/2007					DC	25.43%	9.80%	6/12/2015	8/21/2015	11/21/2015	% of increase based on average, preapproved 3 year phased in increase 9.8% per year
373	SPL2-336	i	C	7/6/2007					SD	26.85%	26.80%	7/20/2015	8/31/2015	11/21/2015	% of increase based on average
374	SPL2-336	Т	С	7/3/2007					PA	25.33%	14.60%	5/29/2015	9/1/2015	11/21/2015	% of increase based on average
375	SPL2-336	ı	С	8/20/2007					IL	24.51%	24.50%	5/20/2015	2/5/2016	4/26/2016	% of increase based on average
376	SPL2-336	I	С	2/1/2008					TN	26.41%	26.40%	5/20/2015	10/5/2015	12/21/2015	% of increase based on average
377	SPL2-336	ı	С	11/5/2007					WI	27.17%	27.20%	5/20/2015	10/19/2015	1/26/2016	% of increase based on average
378	SPL2-336	I	С	9/5/2007					OH	22.91%	14.10%	6/15/2015	2/11/2016	5/10/2016	% of increase based on average
379	SPL2-336	ı	С	8/20/2007					VA	24.51%	0.00%	6/23/2015	8/8/2016	N/A	% of increase based on average
380	SPL2-336	I	С	11/1/2007					MS	26.30%	23.00%	7/13/2015	1/11/2016	4/8/2016	% of increase based on average
381	SPL2-336	I	С	7/16/2007					SC	24.65%	18.90%	7/13/2015	10/12/2015	3/6/2016	% of increase based on average
382	SPL2-336	I	С	5/17/2010					NC	24.10%	24.10%	7/17/2015	10/20/2015	1/26/2016	% of increase based on average
383	SPL2-336	I	С	9/12/2007					AL	26.42%	26.40%	7/20/2015	2/3/2016	4/26/2016	% of increase based on average
384	SPL2-336	ı	С	7/16/2007					NE	26.80%	13.40%	7/21/2015	5/19/2016	8/7/2016	% of increase based on average
385	SPL2-336	ı	С	12/9/2008					NH	25.18%	25.20%	7/24/2015	9/11/2015	12/21/2015	% of increase based on average
386	SPL2-336	ı	O	6/24/2007					IA	22.27%	16.20%	7/24/2015	9/10/2015	12/21/2015	% of increase based on average
387	SPL2-336	ı	С	11/24/2007					UT	27.09%	27.10%	7/24/2015	10/1/2015	12/21/2015	% of increase based on average
388	SPL2-336	ı	С	6/30/2007					KY	25.31%	25.30%	7/28/2015	10/14/2015	7/12/2016	% of increase based on average
389	SPL2-336	ı	С	8/15/2007					LA	25.54%	10.00%	7/28/2015	1/5/2016	4/8/2016	% of increase based on average
390	SPL2-336	ı	С	4/24/2008					HI	23.44%	15.00%	7/29/2015	1/17/2018	5/12/2018	% of increase based on average
004	LTQ11-336- MA-NC-601			4/4/0005					NO	0.000/	0.000/	7/47/0045	0/0/0045	44/00/0045	
391	(105)	<u> </u>	С	1/1/2005					NC	6.00% 22.40%	6.00%	7/17/2015	9/2/2015	11/29/2015	0/ - 6
392	SPL2-336 SPL2-336	- !	С	10/1/2007					OR		22.40% 19.70%	8/3/2015	11/19/2015	7/12/2016	% of increase based on average
393			С	10/1/2007					ID	25.60% 15.00%	15.00%	8/3/2015	12/18/2015	4/8/2016	% of increase based on average
394	SPL2-336	<u> </u>	С	6/1/2008					MD OK	26.50%		8/5/2015	12/30/2015	4/12/2016	% of increase based on average
395	SPL2-336	- !	С	10/1/2007							10.00%	8/5/2015	1/27/2016	4/12/2016	% of increase based on average
396	SPL2-336	- !	С	11/1/2007					NV	21.10%	5.10%	8/6/2015	9/18/2015	12/21/2015	% of increase based on average
397	SPL-336	_	С	6/1/2004					LA	15.30% 25.20%	0.00%	8/11/2015	12/30/2015	N/A	% of increase based on average
398 399	SPL2-336 SPL2-336	<u> </u>	C	8/1/2008					AR AK	25.20%	24.70%	8/24/2015	10/2/2015 11/17/2015	N/A 3/6/2016	% of increase based on average % of increase based on average
400	SPL2-336 SPL2-336	<u> </u>	C	3/1/2008 10/1/2007					IN	25.10%	0.00%	9/3/2015 9/18/2015	10/9/2015	3/6/2016 N/A	% of increase based on average  % of increase based on average
400	SPL2-336 SPL2-336	<u> </u>	C	9/1/2007					ME	25.10%	13.60%	9/18/2015	4/19/2016	7/5/2016	% of increase based on average  % of increase based on average
401	SPL2-336 SPL2-336	<u> </u>	C	2/1/2007					MN	24.80%	14.50%	10/19/2015	5/16/2016	8/2/2016	% of increase based on average  % of increase based on average
402	SPL2-336 SPL2-336	<u> </u>	C	2/1/2008					DE	25.30%	25.30%	10/19/2015	11/18/2015	3/6/2016	% of increase based on average  % of increase based on average
403	SPL2-336 SPL2-336	<u> </u>	C	10/1/2008					WV	25.30%	25.30%	10/21/2015	2/29/2019	7/5/2016	% of increase based on average  % of increase based on average
404	UF LZ-330		U	10/1/2007					VV V	24.30%	24.30%	10/21/2015	2/29/2019	1/3/2016	70 OF ITICIEASE DASEU OIT AVERAGE

		*Policy	**Policy	Date Policy	Date Policy	Acquired From	Acquired From Company	CA	Other State	Increase	Increase	Date Increase	Date Increase	Date Increase	
Row#	Policy Form	Type	Category	Sold	Acquired	Company Name	NAIC	Policy	Policy	Requested	Approved	Requested	Approved	Issued	Company Explanation
405	SPL2-336	I	С	8/1/2007					NM	23.50%	0.00%	10/23/2015	12/10/2015	N/A	% of increase based on average
406	SPL2-336	I	С	9/1/2007					WY	25.40%	25.40%	10/23/2015	2/5/2016	4/26/2016	% of increase based on average
407	SPL2-336	I	С	2/1/2008					FL	24.90%	0.00%	12/4/2015	4/25/2016	N/A	% of increase based on average
408	SPL-336		O	12/1/2004					FL	39.60%	0.00%	12/4/2015	4/25/2016	N/A	% of increase based on average
409	LTQ11-336- MA-FL- 1100(CNB)(1 05)	I	O	11/1/1998					FL	39.00%	0.00%	12/4/2015	4/25/2016	N/A	
410	LTQ11-336- MA-FL-1100	I	С	11/1/2002					FL	39.00%	0.00%	12/4/2015	4/25/2016	N/A	
411	LTQ11-336- MA-FL- 1100(CNB)	I	С	9/1/2003					FL	39.00%	0.00%	12/4/2015	4/25/2016	N/A	
412	SPL-336	ı	С	3/1/2004					TN	76.10%	38.10%	3/1/2016	5/25/2016	8/21/2016	% of increase based on average, preapproved 2 year phased in increase 38.1% per year
413	SPL-336	i	С	3/1/2004					MI	74.40%	74.40%	3/2/2016		7/5/2016	% of increase based on average
414	SPL-336	ı	С	1/1/2004					ND	79.00%	15.00%	3/2/2016		7/12/2016	% of increase based on average
415	SPL-336	ı	С	3/1/2004					SD	73.60%	73.60%	3/24/2016	4/13/2016	7/5/2016	% of increase based on average
416	SPL-336	I	С	4/1/2004					SC	76.90%	20.00%	4/6/2016		8/21/2016	% of increase based on average
417	SPL-336	I	С	2/1/2004					ОН	74.40%	15.00%	4/6/2016		9/25/2016	% of increase based on average
418	SPL-336	I	С	7/1/2004					AK	77.00%	77.00%	4/26/2016	6/7/2016	8/21/2016	% of increase based on average
419	SPL-336	ı	С	6/1/2004					WY	164.30%	40.90%	6/3/2016	8/4/2016	11/1/2016	% of increase based on average, preapproved 3 year phased in increase 40.9% per year
	SPL-336	i	С	6/1/2004					OK	73.70%	10.00%	6/9/2016		11/1/2016	% of increase based on average
421	SPL-336	Ī	C	5/1/2004		1			MT	11.40%	0.00%	7/24/2015		N/A	% of increase based on average
422	SPL-336	ı	С	2/1/2004		1			IL	75.80%	75.80%	2/5/2016		3/19/2017	% of increase based on average
423	SPL-336	ı	С	3/1/2004					NY	113.90%	79.80%	3/1/2016		6/10/2018	% of increase based on average
424	SPL-336	I	С	6/1/2004					MO	74.60%	34.40%	3/11/2016	11/15/2016	2/13/2017	% of increase based on average
425	SPL-336	I	С	4/1/2004					PA	74.50%	20.00%	3/14/2016	9/22/2016	12/19/2016	% of increase based on average
426	FSPL-336	I	С	4/1/2004					PA	74.50%	20.00%	3/14/2016	9/22/2016	12/19/2016	% of increase based on average
427	SPL-336	I	С	11/8/2004					TX	75.10%	75.10%	4/7/2016		1/22/2017	% of increase based on average
428	LPSPL-336	I	С	11/8/2004					TX	75.10%	75.10%	4/7/2016	11/1/2016	1/22/2017	% of increase based on average
429	SPL-336	ı	С	5/1/2004					NC	109.40%	25.00%	4/8/2016	1/12/2017	4/18/2017	% of increase based on average, preapproved 2 year phased in, 25% then 20%
430	FSPL-336	I	С	5/1/2004					NC	109.40%	25.00%	4/8/2016	1/12/2017	4/18/2017	% of increase based on average, preapproved 2 year phased in, 25% then 20%
431	SPL-336		С	6/1/2004					LA	100.70%	25.00%	4/13/2016	11/18/2016	2/13/2017	% of increase based on average

		*Policy	**Policy	Date Policy	Date Policy	Acquired From	Acquired From Company	CA	Other State	Increase	Increase	Date Increase	Date Increase	Date Increase	
Row#	Policy Form	Туре	Category	Sold	Acquired	Company Name	NAIC	Policy	Policy	Requested	Approved	Requested	Approved	Issued	Company Explanation
															% of increase based on average,
				=/./222						75.000/	00.000/		/ /	0/00/004=	preapproved 3 year phased in 20.6% per
	SPL-336		С	7/1/2004					WA	75.60%	20.60%	4/27/2016		6/23/2017	year
	SPL-336		С	3/1/2004					KY	74.50%	40.00%	4/26/2016	10/24/2016	1/10/2017	% of increase based on average
	SPL-336		С	3/1/2004					AZ	75.40%	0.00%	5/3/2016	9/21/2016	N/A	% of increase based on average
	SPL-336		С	3/1/2004					WI	75.20%	69.00%	5/6/2016	1/12/2017	4/18/2017	% of increase based on average
436	SPL-336	ı	С	5/1/2004					AL	75.40%	32.00%	5/6/2016	3/27/2017	3/23/2017	% of increase based on average
437	SPL-336		С	6/1/2004					ID	77.90%	12.00%	6/8/2016	4/13/2017	7/18/2017	% of increase based on average, preapproved 2 year phased in 12% per vear
	SPL-336		C	8/1/2004					OR	83.60%	30.00%	6/27/2016	5/2/2017	9/30/2017	% of increase based on average
	SPL-336		С	3/1/2004					GA	75.30%	15.00%	6/30/2016	9/29/2016	12/19/2017	% of increase based on average  % of increase based on average
	SPL-336		С	3/1/2004					СТ	152.00%	10.00%	7/5/2016	10/7/2016	1/6/2017	% of increase based on average, preapproved 3 year phased in 10% per year
441	SPL-336	I	С	4/1/2004					MS	75.50%	25.00%	7/20/2016	12/19/2016	3/19/2017	% of increase based on average
442	SPL-336	ı	С	2/1/2004					IA	74.10%	17.00%	7/26/2016	12/19/2016	3/19/2017	% of increase based on average
	SPL-336		С	3/1/2004					СО	76.30%	10.00%	7/28/2016	11/10/2016	2/13/2017	% of increase based on average, preapproved 3 year phased in 10% per year
	SPL2-336		С	9/1/2009					RI	25.70%	pending	8/24/2015	pending		% of increase based on average
445	SPL2-336	ı	С	6/1/2007					NY	24.20%	20.10%	9/9/2015	10/4/2017	2/5/2018	% of increase based on average
	LTQ11-336- MA-TX-1100 (REV. TO 601)	ı	С	9/1/2001					TX	49.00%	49.00%	4/6/2015	6/11/2015	9/5/2015	
	GRP11-342- MA-TX-1100 (REV. TO			<b>-</b> ///2004						20.000/	00.000		-44664-	0///00/-	
447	601) LTQ11-336-	G	С	7/1/2004					TX	68.00%	68.00%	10/16/2014	5/1/2015	8/4/2015	
448	KS-601	I	С	10/1/2002					KS	25.00%	25.00%	2/20/2015	3/18/2015	8/12/2015	
449	GRP11-342- MA-KS-601	G	С	3/1/2003					KS	62.00%	62.00%	2/20/2015	3/19/2015	8/12/2015	
	GRP11342M AIA401	G	С	1/1/2003					IA	15.30%	15.30%	6/19/2015	9/10/2015	12/21/2015	
	SPL-336		С	6/5/2004					UT	84.00%	40.00%	9/12/2016	2/9/2017	5/9/2017	% of increase based on average
.0_	SPL-336		С	2/24/2004					ME	N/A	6.10%	N/A	N/A	10/21/2016	Preapproved from prior filing
	SPL-336		С	1/1/2004					ND	89.10%	30.00%	3/17/2017	4/24/2017	8/8/2017	% of increase based on average
	SPL-336		С	7/25/2007				CA		86.00%	15.00%	10/14/2016	4/26/2017	7/11/2017	% of increase based on average
	SPL-336-N	l	A	7/25/2007				CA		86.00%	15.00%	10/14/2016	4/26/2017	7/11/2017	% of increase based on average
	SPL-336	<u> </u>	С	4/20/2004					DC	N/A	9.60%	N/A	N/A	5/10/2017	Preapproved from prior filing
	SPL-336		С	4/1/2004					SC	68.90%	20.00%	4/5/2017	5/16/2017	9/19/2017	% of increase based on average
458	SPL-336	ı	С	3/1/2005					GA	82.50%	20.00%	6/20/2017	7/31/2017	12/19/2017	% of increase based on average

Row#	Policy Form	*Policy Type	**Policy Category	Date Policy Sold	Date Policy Acquired	Acquired From Company Name	Acquired From Company NAIC	CA Policy	Other State Policy	Increase Requested	Increase Approved	Date Increase Requested	Date Increase Approved	Date Increase	Company Explanation
	SPL-336	Туре	Category		Acquired	Company Name	NAIC	1 Olicy	,	N/A	38.10%	•	• • • • • • • • • • • • • • • • • • • •		
459	SPL-336	ı	C	3/1/2004					TN	IN/A	30.10%	N/A	N/A	8/21/2017	Preapproved from prior filing % of increase based on average, 3 year
460	SPL-336	1	С	9/19/2004					NV	96.00%	25.20%	9/8/2016	9/18/2017	12/8/2017	phase in 25.2% per year
461	SPL-336	i	C	3/9/2004					MN	N/A	15.00%	N/A	N/A	9/25/2017	Preapproved from prior filing
462	SPL-336		C	2/1/2004					IA	78.30%	18.00%	3/31/2017	6/5/2017	3/19/2018	% of increase based on average
463	SPL-336	I	С	6/1/2004					MO	55.30%	34.60%	6/26/2017	6/28/2017	2/13/2018	% of increase based on average
464	SPL-336	I	С	3/1/2004					CT	111.60%	25.00%	4/5/2017	6/22/2017	1/6/2018	% of increase based on average
465	SPL-336		С	2/1/2004					ОН	82.80%	82.80%	4/5/2017	1/3/2018	pending	% of increase based on average
466	SPL-336		С	10/7/2005					MD	15.00%	15.00%	9/7/2016	12/14/2017	pending	
467	SPL-336	I	С	4/1/2004					PA	76.30%	20.00%	3/9/2017	9/19/2017	12/19/2017	% of increase based on average
468	FSPL-336		С	4/1/2004					PA	76.30%	20.00%	3/9/2017	9/19/2017	12/19/2017	% of increase based on average
469	SPL-336	_	С	6/5/2004					VT	204.00%	pending	6/8/2017	pending	pending	% of increase based on average
470	SPL-336		С	3/1/2004					KY	52.40%	29.70%	7/11/2017	3/1/2018	pending	% of increase based on average
471	SPL-336	ı	С	6/17/2004					NM	186.40%	5.00%	7/14/2014	9/26/2017	1/7/2018	% of increase based on average
472	SPL-336	I	С	3/1/2004					ΑZ	115.90%	pending	7/21/2017	pending	pending	% of increase based on average
473	SPL-336	I	С	4/1/2004					MS	53.10%	25.00%	7/28/2017	3/16/2018	8/11/2018	% of increase based on average
474	SPL-336	I	С	2/1/2006					WV	108.90%	10.00%	8/4/2017	12/20/2017	5/12/2018	% of increase based on average
475	SPL-336		С	2/9/2004					NE	105.30%	105.30%	8/8/2017	1/26/2018	8/11/2018	% of increase based on average
476	SPL-336		С	6/1/2004					OK	87.50%	10.00%	8/16/2017	10/31/2017	3/17/2018	% of increase based on average
477	SPL2-336	ı	С	7/12/2007					CT	24.70%	10.00%	10/4/2016	11/14/2016	2/13/2017	% of increase based on average
478	SPL2-336	ı	С	10/1/2007					ID	4.80%	0.00%	3/30/2017	5/4/2017	N/A	% of increase based on average
479	SPL2-336		С	10/1/2007					OK	15.00%	0.00%	4/4/2017	6/8/2017	N/A	% of increase based on average
480	SPL2-336	ı	С	9/5/2007					ОН	7.70%	7.70%	3/31/2017	4/26/2017	9/4/2017	% of increase based on average
481	SPL2-336	ı	С	7/14/2007					ND	9.70%	9.70%	3/20/2017	5/5/2017	9/22/2017	% of increase based on average
482	SPL2-336	ı	С	6/24/2007					IA	5.30%	5.30%	3/22/2017	5/12/2017	9/22/2017	% of increase based on average
483	SPL2-336	I	С	11/12/2007					GA	17.60%	12.00%	3/21/2017	5/22/2017	9/22/2017	% of increase based on average
484	SPL2-336		С	7/16/2007					SC	4.50%	4.50%	4/3/2017	5/18/2017	9/22/2017	% of increase based on average
485	SPL2-336		С	7/3/2007					PA	9.40%	9.40%	3/10/2017	6/14/2017	9/22/2017	% of increase based on average
486	SPL2-336		С	9/1/2007					ME	10.40%	10.40%	4/17/2017	6/14/2017	9/5/2017	% of increase based on average
487	SPL2-336		С	11/1/2007					MS	2.30%	2.30%	4/4/2017	8/2/2017	11/5/2017	% of increase based on average
488	SPL2-336		С	8/15/2007					LA	14.20%	14.20%	3/24/2017	8/4/2017	11/5/2017	% of increase based on average
489	SPL2-336		С	7/12/2007					CT	13.40%	13.40%	4/17/2017	8/25/2017	2/13/2018	% of increase based on average
490	SPL2-336		С	6/1/2008					MD	9.00%	4.30%	3/30/2017	1/3/2018	10/9/2018	% of increase based on average
491	SPL2-336	!	С	2/1/2008					MN	9.00%	pending	10/30/2017	pending	pending	% of increase based on average
492	SPL2-336	l	С	7/16/2007					NE	11.80%	pending	9/5/2017	pending	pending 	% of increase based on average
493	SPL2-336	ı	С	8/20/2007					VA	24.30%	pending	9/19/2017	pending	pending	% of increase based on average
494	GPR11-342-	G	С	0/1/2004					ND	69.00%	30.00%	2/17/2017	4/24/2017	10/2/2017	% of increase based on average
494	MA-ND-601	G	U	8/1/2001					טעו	09.00%	30.00%	3/17/2017	4/24/2017	10/3/2017	% of increase based on average
	GPR11-342- MA-ND-														1
495	601(REV)	G	С	8/1/2001					ND	69.00%	30.00%	3/17/2017	4/24/2017	10/3/2017	% of increase based on average
455	NTQ11-337-	)		3/1/2001					110	33.3370	33.3370	0/11/2011	1/27/2011	10/0/2017	
496	MA-ND-601	I	Α	10/24/2001					ND	150.10%	30.00%	3/17/2017	4/24/2017	8/8/2017	% of increase based on average

Row#	Policy Form	*Policy Type	**Policy Category	Date Policy Sold	Date Policy Acquired	Acquired From Company Name	Acquired From Company NAIC	CA Policy	Other State Policy	Increase Requested	Increase Approved	Date Increase Requested	Date Increase Approved	Date Increase Issued	Company Explanation
	NTQ11-337-										1	•			
	MA-ND-														
497	601(REV)	I	Α	10/24/2001					ND	150.10%	30.00%	3/17/2017	4/24/2017	8/8/2017	% of increase based on average
	LTQ11-336-														
	MA-ND-601			0/=/0004						450 400/	00.000/		./2.//2	0/0/004=	
498	(REV) HTQ11-338-	l	С	6/5/2001					ND	150.10%	30.00%	3/17/2017	4/24/2017	8/8/2017	% of increase based on average
499	MA-ND-601	- 1	В	3/20/2001					ND	150.10%	30.00%	3/17/2017	4/24/2017	8/8/2017	% of increase based on average
	TNQ11-337-			0,10,100								0, , , , ,		0,0,20	
500	MA-DC-701	G	Α	12/15/2003					DC	61.10%	10.00%	4/4/2017	5/8/2017	8/8/2017	% of increase based on average
504	TGR11-342-	0		44/4/0004					D0	61.10%	40.000/	4/4/0047	5/0/0047	0/0/0047	0/ of increase based on average
501	MA-DC-701 TLQ11-336-	G	С	11/1/2001					DC	61.10%	10.00%	4/4/2017	5/8/2017	8/8/2017	% of increase based on average
502	MA-DC-701	G	С	11/1/2001					DC	61.10%	10.00%	4/4/2017	5/8/2017	8/8/2017	% of increase based on average
	THQ11-338-														
503	MA-DC-701	G	В	9/17/2002					DC	61.10%	10.00%	4/4/2017	5/8/2017	8/8/2017	% of increase based on average
504	LTC-G-LBP8- MED	G	Α	3/1/1996					DC	61.10%	10.00%	4/4/2017	5/8/2017	8/8/2017	% of increase based on average
304	LTC-G-LBP9-		A	3/1/1990					DC	01.1078	10.00 /6	4/4/2017	3/6/2017	0/0/2017	% of increase based on average
505	MED	G	Α	3/1/1996					DC	61.10%	10.00%	4/4/2017	5/8/2017	8/8/2017	% of increase based on average
	LTC-G-CD9-														
506	MED	G	С	12/21/1995					DC	61.10%	10.00%	4/4/2017	5/8/2017	8/8/2017	% of increase based on average
	LTC-G-CD9- MED														
507	REV11/97	G	С	12/21/1995					DC	61.10%	10.00%	4/4/2017	5/8/2017	8/8/2017	% of increase based on average
	LTC-G-CD8-												5,5,25,1	0,0,20	
508	MED	G	С	12/21/1995					DC	61.10%	10.00%	4/4/2017	5/8/2017	8/8/2017	% of increase based on average
500	NTQ11-337-			4/0/0004					00	445 000/	20.000/	4/5/0047	E/40/0047	0/0/0047	0/ of increase based on average
509	MA-SC-998 LTQ11-336-	ı ı	A	4/2/2004					SC	115.60%	20.00%	4/5/2017	5/16/2017	8/8/2017	% of increase based on average
510	MA-SC-998	- 1	С	1/1/2000					SC	115.60%	20.00%	4/5/2017	5/16/2017	8/8/2017	% of increase based on average
	HTQ11-338-														
	MA-SC-998	ı	В	5/1/2002					SC	115.60%	20.00%	4/5/2017	5/16/2017	8/8/2017	% of increase based on average
512	LTCCD8IA		С	5/10/1996					IA	141.30%	18.00%	3/31/2017	6/5/2017	10/3/2017	% of increase based on average
513	LTCCD9MAI A	1	С	5/10/1996					IA	141.30%	18.00%	3/31/2017	6/5/2017	10/3/2017	% of increase based on average
313	LTQ11-336-	'		3/10/1990		+			i/\	171.00/6	10.00 /6	3/3 1/2017	0/3/2017	10/3/2017	70 of microase based off average
	MA-IA-														
514	401(601)	I	С	10/29/1999					IA	125.90%	18.00%	3/31/2017	6/5/2017	10/3/2017	% of increase based on average
	L TO44 000					Wellmark Blue									
515	LTQ11-336- WM-IA-998		С	11/1/1999	10/1/2001	Cross and Blue Shield	95531		IA	125.90%	18.00%	3/31/2017	6/5/2017	10/3/2017	% of increase based on average
313	LTQ11336M			11/1/1333	10/1/2001	- Inoid	30001		1/1	120.3076	10.00 /6	3/3 1/2017	0/3/2017	10/3/2017	7. SIorodoo bacca on average
516	AIA401	I	С	10/29/1999					IA	125.90%	18.00%	3/31/2017	6/5/2017	10/3/2017	% of increase based on average

							Acquired From		Other						
Row#	Policy Form	*Policy Type	**Policy Category	Date Policy Sold	Date Policy Acquired	Acquired From Company Name	Company NAIC	CA Policy	State Policy	Increase Requested	Increase Approved	Date Increase Requested	Date Increase Approved	Date Increase Issued	Company Explanation
	LITO 4.4 000					Wellmark Blue									
517	HTQ11-338- WM-IA-998	ı	В	4/1/2000	10/1/2001	Cross and Blue Shield	95531		IA	125.90%	18.00%	3/31/2017	6/5/2017	10/3/2017	% of increase based on average
540	LTC-LBP8-		0	4/04/4000					1.0	4.44.2007	40.000/	0/04/0047	0/5/0047	40/0/0047	0/ af in areas has all an average
518	MA-IA LTCLBP9MA	ı	С	4/24/1996					IA	141.30%	18.00%	3/31/2017	6/5/2017	10/3/2017	% of increase based on average
519	IA	ı	С	4/24/1996					IA	141.30%	18.00%	3/31/2017	6/5/2017	10/3/2017	% of increase based on average
	NTQ11-337- MA-IA-														
520	401(601)	I	Α	3/1/2000					IA	125.90%	18.00%	3/31/2017	6/5/2017	10/3/2017	% of increase based on average
						Wellmark Blue									
521	NTQ11-337- WM-IA-998	ı	Α	3/1/2000	10/1/2001	Cross and Blue Shield	95531		IA	125.90%	18.00%	3/31/2017	6/5/2017	10/3/2017	% of increase based on average
	NTQ11337M														
522	AIA401 GRP11342M	ı	Α	3/1/2000					IA	125.90%	18.00%	3/31/2017	6/5/2017	10/3/2017	% of increase based on average
523	AIA401	G	С	1/1/2003					IA	93.80%	18.00%	3/31/2017	6/5/2017	10/3/2017	% of increase based on average
	HTQ11-338-														% of increase based on average, preapproved 3 year phased in 10% per
524	MA-CT-601	ı	В	9/1/2003					СТ	150.30%	10.00%	4/5/2017	6/27/2017	10/8/2017	year
															% of increase based on average,
525	PRT11-336- MA-CT-601	1	С	9/1/2003					СТ	150.30%	10.00%	4/5/2017	6/27/2017	10/8/2017	preapproved 3 year phased in 10% per vear
				3, 1, = 000									5/21/2511	10/0/2011	% of increase based on average,
526	PNQ11-337- MA-CT-601	1	Α	9/1/2003					СТ	150.30%	10.00%	4/5/2017	6/27/2017	10/8/2017	preapproved 3 year phased in 10% per vear
020			/ /	3/1/2000					01	100.0070	10.0070	4/0/2011	0/21/2011	10/0/2017	% of increase based on average,
527	PRT-336-CT- 0508	1	С	10/1/2009					СТ	150.30%	10.00%	4/5/2017	6/27/2017	10/8/2017	preapproved 3 year phased in 10% per year
527	0506		C	10/1/2009					CI	130.30%	10.00 %	4/5/2017	0/21/2011	10/6/2017	% of increase based on average,
500	LTQ11-336-			0/4/0000					ОТ.	450.000/	40.000/	4/5/0047	0/07/0047	40/0/0047	preapproved 3 year phased in 10% per
528	MA-CT-601 PGR11-342-	ı	С	9/1/2003					СТ	150.30%	10.00%	4/5/2017	6/27/2017	10/8/2017	year
529	MA-CT-601	G	С	6/1/2002					CT	135.00%	18.00%	4/5/2017	6/21/2017	10/8/2017	% of increase based on average
530	GRP11-342- MC-CT-200	G	С	6/1/2002					СТ	135.00%	18.00%	4/5/2017	6/21/2017	10/8/2017	% of increase based on average
	LTC-CD-5MI	- G	F	9/24/1993					MI	123.70%	123.70%	6/16/2017	6/27/2017	10/8/2017	% of increase based on average  % of increase based on average
	LTC-CD8-		_	0/04/400-						100 7637	400 7657				
532	MA-MI HTQ11-338-	l	F	9/24/1993					MI	123.70%	123.70%	6/16/2017	6/27/2017	10/8/2017	% of increase based on average
533	MA-MI-998	ı	В	6/1/2001					MI	73.80%	73.80%	6/16/2017	6/27/2017	10/8/2017	% of increase based on average
534	HTQ11-338- MA-MI-601	ı	В	6/1/2001					МІ	73.80%	73.80%	6/16/2017	6/27/2017	10/8/2017	% of increase based on average
334	LTQ11336M	'		3/1/2001					IVII			0/10/2017	0/21/2011	10/0/2017	70 of moreage based on average
535	AMI998	l	С	6/1/2001					MI	73.80%	73.80%	6/16/2017	6/27/2017	10/8/2017	% of increase based on average

Row#	Policy Form	*Policy Type	**Policy Category	Date Policy Sold	Date Policy Acquired	Acquired From Company Name	Acquired From Company NAIC	CA Policy	Other State Policy	Increase Requested	Increase Approved	Date Increase Requested	Date Increase Approved	Date Increase Issued	Company Explanation
536	LTQ11-336- MA-MI-601	I	С	6/1/2001					MI	73.80%	73.80%	6/16/2017	6/27/2017	10/8/2017	% of increase based on average
537	NTQ11-337- MA-MI-998	1	A	7/17/2002					MI	73.80%	73.80%	6/16/2017	6/27/2017	10/8/2017	% of increase based on average
538	NTQ11-337- MA-MI-601	1	A	7/17/2002					MI	73.80%	73.80%	6/16/2017	6/27/2017	10/8/2017	% of increase based on average
539	GRP11-342- MA-OH-200 NTQ11-337-	G	С	12/1/2000					ОН	68.80%	15.00%	4/5/2017	6/29/2017	10/7/2017	% of increase based on average
540	MA-OH-998 LTQ11-336-	1	А	4/1/2002					ОН	75.80%	15.00%	4/5/2017	6/29/2017	10/7/2017	% of increase based on average
541	MA-OH-998	1	С	5/7/2001					ОН	75.80%	15.00%	4/5/2017	6/29/2017	10/7/2017	% of increase based on average
542	HTQ11-338- MA-OH- 998(TAX- QUALIFIED)	I	В	3/28/2002					ОН	75.80%	15.00%	4/5/2017	6/29/2017	10/7/2017	% of increase based on average
543	LTCLBPMA OH	1	С	10/1/1993					ОН	92.00%	15.00%	4/5/2017	6/29/2017	10/7/2017	% of increase based on average
544	LTCCD9MA OH	ı	С	8/24/1993					ОН	92.00%	15.00%	4/5/2017	6/29/2017	10/7/2017	% of increase based on average
545	LTCLBP9MA OH	I	С	10/1/1993					ОН	92.00%	15.00%	4/5/2017	6/29/2017	10/7/2017	% of increase based on average
546	LTCGACD9 MAILOH	G	С	8/24/1993					ОН	92.00%	15.00%	4/5/2017	6/29/2017	10/7/2017	% of increase based on average
547	OH	<u>!</u>	С	8/24/1993					ОН	92.00%	15.00%	4/5/2017		10/7/2017	% of increase based on average
548	NTQ11337M	<u> </u>	A	10/1/1993					OH	92.00%	15.00%	4/5/2017		10/7/2017	% of increase based on average
549	ASD998 NTQ11337M	<u> </u>	A	2/23/2000					SD	149.50%	149.50%	5/17/2017	6/30/2017	10/8/2017	% of increase based on average
550 551	ASD401 LTC-CD9- MA-SD	<u>!</u> !	A C	2/23/2000 3/3/1998					SD SD	149.50% 165.60%	149.50% 165.60%	5/17/2017	6/30/2017	10/8/2017	% of increase based on average % of increase based on average
	LTQ11-336- MA-SD- 401(REV.TO								-						
552	601)(CNB) LTQ11336M	<u> </u>	С	3/12/2001					SD	149.50%	149.50%	5/17/2017		10/8/2017	% of increase based on average
553	ASD601 LTQ11336M	<u> </u>	С	3/12/2001					SD	149.50%	149.50%	5/17/2017		10/8/2017	% of increase based on average
554	ASD401 LTQ11336M	1	С	3/12/2001					SD	149.50%	149.50%	5/17/2017	6/30/2017	10/8/2017	% of increase based on average
555	ASD998	I	С	3/12/2001					SD	149.50%	149.50%	5/17/2017	6/30/2017	10/8/2017	% of increase based on average

Row#	Policy Form	*Policy Type	**Policy Category	Date Policy Sold	Date Policy Acquired	Acquired From Company Name	Acquired From Company NAIC	CA Policy	Other State Policy	Increase Requested	Increase Approved	Date Increase Requested	Date Increase Approved	Date Increase Issued	Company Explanation
556	LTC-LBP9- MA-SD	1	С	4/17/1998					SD	165.60%	165.60%	5/17/2017	6/30/2017	10/8/2017	% of increase based on average
557	GRP11-342- MA-SD-401 (REV. TO 601)	G	С	3/1/2003					SD	69.10%	69.10%	5/17/2017	6/30/2017	10/8/2017	% of increase based on average
558	LTQ11-336- MA-GA-1100	ı	С	1/14/2003					GA	143.90%	20.00%	6/20/2017	7/31/2017	11/5/2017	% of increase based on average
559	HTQ11-338- MA-GA-1100	I	В	5/29/2002					GA	143.90%	20.00%	6/20/2017	7/31/2017	11/5/2017	% of increase based on average
560	LTQ11-336- MA-MO-601	1	С	12/1/2002					МО	105.30%	43.30%	6/26/2017	9/12/2017	1/9/2017	% of increase based on average
561	NTQ11-337- MA-MO-601	ı	A	3/1/2003					МО	105.30%	43.30%	6/26/2017	9/12/2017	1/9/2017	% of increase based on average
562	GRP11-342- MA-MO-601	G	С	8/1/2004					МО	69.10%	32.00%	6/26/2017	9/12/2017	1/9/2017	% of increase based on average
563	LTQ11-336- MA-KY-1100	I	С	5/13/2002					KY	124.10%	30.00%	7/11/2017	3/1/2018	9/8/2018	% of increase based on average
564	HTQ11-338- MA-KY-1100 (TAX- QUALIFIED)	ı	В	3/27/2002					KY	124.10%	30.00%	7/11/2017	3/1/2018	9/8/2018	% of increase based on average
565	NTQ11-337- MA-KY-1100	I	A	10/16/2002					KY	124.10%	30.00%	7/11/2017	3/1/2018	9/8/2018	% of increase based on average
566	LTC-CD9- MA-MN	I	С	11/9/1998					MN	184.20%	15.00%	5/10/2017	9/19/2017	1/9/2018	% of increase based on average, preapproved 4 year phased in 15% per year
567	LTC-LBP9- MA-MN	I	A	11/9/1998					MN	184.20%	15.00%	5/10/2017	9/19/2017	1/9/2018	% of increase based on average, preapproved 4 year phased in 15% per year
568	LTQ11-336- MA-MN-501	I	С	10/1/2001					MN	206.50%	15.00%	5/10/2017	9/19/2017	1/9/2018	% of increase based on average, preapproved 4 year phased in 15% per year
569	LTQ11-336- MA-MN-501 (Rev. to 601)	I	С	10/1/2001					MN	206.50%	15.00%	5/10/2017	9/19/2017	1/9/2018	% of increase based on average, preapproved 4 year phased in 15% per year

Row#	Policy Form	*Policy Type	**Policy Category	Date Policy Sold	Date Policy Acquired	Acquired From Company Name	Acquired From Company NAIC	CA Policy	Other State Policy	Increase Requested	Increase Approved	Date Increase Requested	Date Increase Approved	Date Increase Issued	Company Explanation
570	NTQ11-337- MA-MN-501	ı	A	10/1/2001					MN	206.50%	15.00%	5/10/2017	9/19/2017	1/9/2018	% of increase based on average, preapproved 4 year phased in 15% per year
571	NTQ11-337- MA-MN-501 (Rev. to 601)	ı	A	10/1/2001					MN	206.50%	15.00%	5/10/2017	9/19/2017	1/9/2018	% of increase based on average, preapproved 4 year phased in 15% per year
	HTQ11-338- MA-MN	ı	В	10/1/2001					MN	206.50%	15.00%	5/10/2017		1/9/2018	% of increase based on average, preapproved 4 year phased in 15% per year
573	GRP11-342- MA-MN-501	G	С	1/1/2005					MN	135.00%	15.00%	5/10/2017	12/15/2017	3/20/2018	% of increase based on average, preapproved 3 year phase-in
574	GRP11-342- MA-TN-200	G	С	3/1/2005					TN	80.00%	20.00%	2/23/2017	10/30/2017	3/27/2018	% of increase based on average, preapproved 2 year phase in, 20% per year
575	GRP11-342- MA-TN-200 (REV 601)	G	С	4/1/2005					TN	80.00%	20.00%	2/23/2017	10/30/2017	3/27/2018	% of increase based on average, preapproved 2 year phase in, 20% per year
576	LTQ11-336- MA-TN-1100	1	С	7/11/2003					TN	141.00%	20.00%	2/23/2017	10/30/2017	2/27/2018	% of increase based on average, preapproved 2 year phase in, 20% per year
577	HTQ11-338- MA-TN-1100	ı	В	4/1/2003					TN	141.00%	20.00%	2/23/2017	10/30/2017	2/27/2018	% of increase based on average, preapproved 2 year phase in, 20% per year
578	TGR11342M ATN601	G	С	7/1/03					TN	141.00%	20.00%	2/23/2017	10/30/2017	7/7/2018	% of increase based on average, preapproved 2 year phase in, 20% per year
579	GRP11-342- MA-PA-601	G	С	7/1/2004					PA	69.10%	20.00%	3/9/2017	9/22/2017	1/8/2018	% of increase based on average
580	NTQ11-337- MA-PA-601	ı	A	10/15/2001					PA	96.90%	20.00%	3/9/2017	9/22/2017	1/8/2018	% of increase based on average
581	NTQ11-337- MA-PA-998	1	А	10/15/2001					PA	96.90%	20.00%	3/9/2017	9/22/2017	1/8/2018	% of increase based on average
582	LTQ11-336- MA-PA-601	1	С	11/28/2000					PA	96.90%	20.00%	3/9/2017	9/22/2017	1/8/2018	% of increase based on average
583	LTQ11-336- MA-PA-998	ı	С	11/28/2000					PA	96.90%	20.00%	3/9/2017	9/22/2017	1/8/2018	% of increase based on average
584	FLQ11-336- MA-PA-601	I	С	11/28/2000					PA	96.90%	20.00%	3/9/2017	9/22/2017	1/8/2018	% of increase based on average
585	HTQ11-338- MA-PA-601 HTQ11-338-	1	В	4/4/2001					PA	96.90%	20.00%	3/9/2017	9/22/2017	1/8/2018	% of increase based on average
586	MA-PA-998	ı	В	4/4/2001					PA	96.90%	20.00%	3/9/2017	9/22/2017	1/8/2018	% of increase based on average
587	LTC-LBP- 2PA	I	А	12/2/1992					PA	96.90%	20.00%	3/9/2017	9/22/2017	1/8/2018	% of increase based on average

Row#	Policy Form	*Policy Type	**Policy Category	Date Policy Sold	Date Policy Acquired	Acquired From Company Name	Acquired From Company NAIC	CA Policy	Other State Policy	Increase Requested	Increase Approved	Date Increase Requested	Date Increase Approved	Date Increase Issued	Company Explanation
588	LTC-LBP8- MA-PA	I	А	12/2/1992					PA	96.90%	20.00%	3/9/2017	9/22/2017	1/8/2018	% of increase based on average
589	LTC-CD9- MA-PA	1	С	10/12/1992					PA	96.90%	20.00%	3/9/2017	9/22/2017	1/8/2018	% of increase based on average
590	LTC-CD5- 2PA	1	F	10/12/1992					PA	96.90%	20.00%	3/9/2017	9/22/2017	1/8/2018	% of increase based on average
591	LTC-CD8- MA-PA GRP11-341-	1	С	10/12/1992					PA	96.90%	20.00%	3/9/2017	9/22/2017	1/8/2018	% of increase based on average
592	MA-WA- 1100	G	С	3/1/2003					WA	84.60%	pending	4/20/2017	pending	pending	% of increase based on average
593	NTQ11-337- MA-WA-601	ı	A	5/1/2003					WA	99.60%	pending	4/20/2017	pending	pending	% of increase based on average
594	LTQ11-336- MA-WA-601	I	С	1/1/2003					WA	99.60%	pending	4/20/2017	pending	pending	% of increase based on average
595	HTQ11-338- MA-WA-601	1	В	3/26/2003					WA	99.60%	pending	4/20/2017	pending	pending	% of increase based on average
596	LTQ11-336- MA-NJ-998	ı	С	6/14/2010					NJ	130.70%	10.00%	4/24/2017	10/18/2017	1/9/2017	% of increase based on average, preapproved 3 year phased in 10% per year
597	NTQ11-337- MA-NJ-998	1	A	1/27/2004					NJ	130.70%	10.00%	4/25/2017	10/18/2017	1/9/2017	% of increase based on average, preapproved 3 year phased in 10% per year
598	GPR11-342- MA-NJ-101	G	С	4/1/2004					NJ	69.10%	69.10%	4/26/2017	10/18/2017	1/9/2017	% of increase based on average
599	LTC-CD9-		С	10/8/1996					MD	101.90%	15.00%	4/28/2017		10/9/2018	% of increase based on average
600	MA-MD LTQ11-336- MA-MD-601		С	10/8/1996					MD MD	101.90% 101.70%	15.00% 15.00%	4/28/2017 4/28/2017	12/14/2017 12/14/2017	10/9/2018	% of increase based on average % of increase based on average
602	LTQ11336M AMD1100		С	1/4/2002					MD	101.70%	15.00%	4/28/2017	12/14/2017	10/9/2018	% of increase based on average
603	HTQ11-338- MA-MD-601		В	7/24/2002					MD	101.70%	15.00%	4/28/2017	12/14/2017	10/9/2018	% of increase based on average
604	HTQ11338M AMD1100	ı	В	7/24/2002					MD	101.70%	15.00%	4/28/2017	12/14/2017	10/9/2018	% of increase based on average
605	LTCLBP9MD	I	A	12/31/1996					MD	101.90%	15.00%	4/28/2017	12/14/2017	10/9/2018	% of increase based on average
606	NTQ11-337- MA-MD-601 GRP11-342-	I	A	2/17/2004					MD	101.70%	15.00%	4/28/2017	12/14/2017	10/9/2018	% of increase based on average
607	MA-MD-601	G	С	4/1/2003					MD	104.30%	0.00%	4/28/2017	12/21/2017	N/A	% of increase based on average

Row#	Policy Form	*Policy Type	**Policy Category	Date Policy Sold	Date Policy Acquired	Acquired From Company Name	Acquired From Company NAIC	CA Policy	Other State Policy	Increase Requested	Increase Approved	Date Increase Requested	Date Increase Approved	Date Increase Issued	Company Explanation
608	LTC-CD8-NC	I	С	2/21/1997					NC	162.30%	25.00%	5/9/2017	2/14/2018	8/21/2018	% of increase based on average
609	LTQ11-336- MA-NC-601	I	С	9/17/2003					NC	129.10%	25.00%	5/9/2017	2/14/2018	8/21/2018	% of increase based on average, preapproved 3 year phase in, 25% per year
610	NTQ11-337- MA-IL-601	ı	A	7/23/2002					IL	143.60%	143.60%	6/7/2017	1/12/2018	8/11/2018	% of increase based on average
611	NTQ11337M AIL998	I	A	7/23/2002					IL	143.60%	143.60%	6/7/2017	1/12/2018	8/11/2018	% of increase based on average
612	LTQ11-336- MA-IL-601	1	С	12/13/1999					IL	143.60%	143.60%	6/7/2017	1/12/2018	8/11/2018	% of increase based on average
613	LTQ11336M AIL998	1	С	12/13/1999					IL	143.60%	143.60%	6/7/2017	1/12/2018	8/11/2018	% of increase based on average
614	HTQ11-338- MA-IL-601	ı	В	12/14/2001					L	143.60%	143.60%	6/7/2017	1/12/2018	8/11/2018	% of increase based on average
615	HTQ11338M AIL998	ı	В	12/14/2001					IL	143.60%	143.60%	6/7/2017	1/12/2018	8/11/2018	% of increase based on average
616	LTCGMPCD 9BCIL	G	O	1/1/1998					٦	118.90%	118.90%	6/7/2017	1/12/2018	8/11/2018	% of increase based on average
617	GRP11-342- MA-IL-601	G	С	1/1/1998					IL	77.70%	77.70%	6/7/2017	1/12/2018	8/11/2018	% of increase based on average
618	GRP11342M AIL499	G	С	1/1/1998					IL	77.70%	77.70%	6/7/2017	1/12/2018	8/11/2018	% of increase based on average
619	LTC-LBP8-IL (MLI)	I	A	10/19/1995					IL	118.90%	118.90%	6/7/2017	1/12/2018	8/11/2018	% of increase based on average
620	LTC-CD8-IL (MLI)	I	С	3/1/1996					IL	118.90%	118.90%	6/7/2017	1/12/2018	8/11/2018	% of increase based on average
621	LTCGACD9 MAIL	G	С	3/1/1996					IL	118.90%	118.90%	6/7/2017	1/12/2018	8/11/2018	% of increase based on average
622	LTC-CD9- MA-IL	1	С	3/1/1996					IL	118.90%	118.90%	6/7/2017	1/12/2018	8/11/2018	% of increase based on average
623	LTC-CD9- MA-VT	1	С	10/1/1999					VT	208.70%	pending	6/8/2017	pending	pending	% of increase based on average
624	LTQ11-336- MA-VT-1100	I	С	7/15/2003					VT	216.00%	pending	6/8/2017	pending	pending	% of increase based on average
625	LTC-CD9-BC- WI	I	С	11/30/1998					WI	138.00%	10.00%	6/26/2017	10/10/2017	10/9/2018	% of increase based on average
626	LTQ11-336- MA-WI-601	I	С	2/15/2000					WI	107.90%	69.00%	6/26/2017	10/10/2017	10/9/2018	% of increase based on average
627	LTQ11336WI 998	1	С	2/15/2000					WI	107.90%	69.00%	6/26/2017	10/10/2017	10/9/2018	% of increase based on average
628	NTQ11-337- MA-WI-601	1	A	11/1/2003					WI	107.90%	69.00%	6/26/2017	10/10/2017	10/9/2018	% of increase based on average

Row#	Policy Form	*Policy Type	**Policy Category	Date Policy Sold	Date Policy Acquired	Acquired From Company Name	Acquired From Company NAIC	CA Policy	Other State Policy	Increase Requested	Increase Approved	Date Increase Requested	Date Increase Approved	Date Increase Issued	Company Explanation
629	GRP11-342- MA-WI-601	G	С	3/1/2001					WI	69.10%	69.10%	6/26/2017	10/10/2017	10/9/2018	% of increase based on average
630	LTC-LBP9- MA-LA	1	A	10/1/1998					LA	299.00%	0.00%	6/29/2017	10/16/2017	N/A	% of increase based on average
631	LTQ11-336- MA-LA-998	1	С	3/20/2000					LA	299.00%	0.00%	6/29/2017	10/16/2017	N/A	% of increase based on average
632	NTQ11-337- MA-LA-998	ı	А	3/1/2003					LA	299.00%	0.00%	6/29/2017	10/16/2017	N/A	% of increase based on average
633	NTQ11-337- MA-AL-601	1	А	12/10/2003					AL	172.90%	24.00%	6/30/2017	12/28/2017	5/12/2018	% of increase based on average
634	LTQ11-336- MA-AL-601	ı	С	3/12/2003					AL	172.90%	24.00%	6/30/2017	12/28/2017	5/12/2018	% of increase based on average
635	HTQ11-338- MA-AL-601	ı	В	8/29/2003					AL	172.90%	24.00%	6/30/2017	12/28/2017	5/12/2018	% of increase based on average
636	LTQ11-336- MA-OR-601	I	С	8/12/2003					OR	69.10%	pending	6/30/2017	pending	pending	% of increase based on average
637	GRP11-342- MA-OR-200	G	С	9/1/2003					OR	115.20%	pending	6/30/2017	pending	pending	% of increase based on average
638	GRP11-342- MA-OR-601	G	С	9/1/2003					OR	115.20%	pending	6/30/2017	pending	pending	% of increase based on average
639	GRP11-342- MA-AZ-200	G	С	1/1/2001					AZ	69.10%	69.10%	7/21/2017	11/7/2017	3/5/2018	% of increase based on average
640	GRP11-342- MA-AZ-601	G	С	1/1/2001					AZ	69.10%	69.10%	7/21/2017	11/7/2017	3/5/2018	% of increase based on average
641	LTC-CD9- MA-AZ	I	С	4/26/1999					AZ	130.90%	pending	7/21/2017	pending	pending	% of increase based on average
642	LTQ11-336- MA-AZ-601	1	С	7/1/2002					AZ	134.10%	pending	7/21/2017	pending	pending	% of increase based on average
643	LTQ11336M AAZ998 HTQ11338M	I	С	12/1/2000					AZ	69.10%	pending	7/21/2017	pending	pending	% of increase based on average
644	AAZ998 HTQ11-338-	I	В	12/19/2001					AZ	69.10%	pending	7/21/2017	pending	pending	% of increase based on average
645	MA-AZ-601 NTQ11-337-	I	В	4/1/2003					AZ	69.10%	pending	7/21/2017	pending	pending	% of increase based on average
	MA-AZ-601 LTC-CD8-ID	<u>                                     </u>	A C	10/23/2003 3/21/1996					AZ ID	69.10% 201.90%	pending pending	7/21/2017 7/27/2017	pending pending	pending pending	% of increase based on average % of increase based on average
	LTC-CD9- MA-ID		С	3/21/1996					ID	201.90%	pending	7/27/2017	pending	pending	% of increase based on average
649	LTQ11-336- MA-ID-601		С	3/1/2004					ID	299.00%	pending	7/27/2017	pending	pending	% of increase based on average
650	LTCCD9MA MS		С	2/1/1998					MS	140.70%	25.00%	7/28/2017	3/16/2018	9/8/2018	% of increase based on average

		*Policy	**Policy	Date Policy	Date Policy	Acquired From	Acquired From Company	CA	Other State	Increase	Increase	Date Increase		Date Increase	
Row#	Policy Form	Туре	Category	Sold	Acquired	Company Name	NAIC	Policy	Policy	Requested	Approved	Requested	Approved	Issued	Company Explanation
	LTQ11-336- MA-MS-998														
	(TAX														
651	QUALIFIED)	I	С	3/1/1999					MS	131.00%	25.00%	7/28/2017	3/16/2018	9/8/2018	% of increase based on average
	HTQ11-338- MA-MS-998 (TAX-														
652	QUALIFIED)	I	В	2/5/2001					MS	131.00%	25.00%	7/28/2017	3/16/2018	9/8/2018	% of increase based on average
653	LTCLBP9MA MS		A	2/1/1999					MS	140.70%	25.00%	7/28/2017	3/16/2018	9/8/2018	% of increase based on average
033	NTQ11-337-		^	2/1/1999					IVIO	140.7070	25.0070	1/20/2011	3/10/2010	9/0/2010	76 Of increase based off average
	MA-MS-998														
654	(TAX- QUALIFIED) LTCGACD9	I	А	9/1/2001					MS	131.00%	25.00%	7/28/2017	3/16/2018	9/8/2018	% of increase based on average
655	MAILMS	G	С	2/1/1998					MS	140.70%	25.00%	7/28/2017	3/16/2018	9/8/2018	% of increase based on average
	LTC-CD9-														
656	MA-MA	ı	С	11/1/1999					MA	158.00%	pending	8/4/2017	pending	pending	
	LTQ11-336-														
657	MA-MA-1100	1	С	10/1/2002					MA	158.00%	pending	8/4/2017	pending	pending	
658	HTQ11-338- MA-MA-1100		В	10/1/2002					MA	158.00%	pending	8/4/2017	pending	pending	
659	SPL-336	<u> </u>	С	9/1/2004					MA	150.00%	pending	8/4/2017	pending	pending	% of increase based on average
660	SPL2-336	i	C	9/1/2008					MA	26.00%	pending	8/4/2017	pending	pending	% of increase based on average
661	14515-MA	I	С	5/1/2000	12/31/2008	Combined Insurance Company of America	62146		MA	40.00%	pending	8/4/2017	pending	pending	
662	LTQ11-336- MA-FL-1100	1	С	12/1/1998					FL	158.00%	23.30%	3/3/2017	10/3/2017	12/17/2017	Preapproved 3 year phase in, 23.3% per year
663	14775-FL	1	С	9/1/2001	12/31/2008	Combined Insurance Company of America	62146		FL	43.00%	10.80%	3/3/2017	10/3/2017	12/17/2017	Preapproved 3 year phase in, 10.8% per year
003	1+110-FL	1		3/1/2001	12/31/2000	Combined	02 140		1 L	43.00%	10.00%	3/3/2017	10/3/2017	12/11/2017	you
664	14788-FL	I	С	7/1/2003	12/31/2008	Insurance Company of America	62146		FL	43.00%	10.80%	3/3/2017	10/3/2017	12/17/2017	Preapproved 3 year phase in, 10.8% per year
						Combined Insurance Company of									Preapproved 3 year phase in, 10.8% per
665	14787-FL	ı	С	6/1/2003	12/31/2008	America	62146		FL	43.00%	10.80%	3/3/2017	10/3/2017	12/17/2017	year

Row#	Policy Form	*Policy Type	**Policy Category	Date Policy Sold	Date Policy Acquired	Acquired From Company Name	Acquired From Company NAIC	CA Policy	Other State Policy	Increase Requested	Increase Approved	Date Increase Requested	Date Increase Approved	Date Increase Issued	Company Explanation
666	SPL-336	I	С	11/1/2004					FL	157.00%	21.00%	3/3/2017	10/3/2017	12/17/2017	% of increase based on average, preapproved 3 year phase in, 21.0% per year
667	SPL2-336	I	С	2/1/2008					FL	25.00%	7.80%	3/3/2017	10/3/2017	12/17/2017	% of increase based on average, preapproved 3 year phase in, 7.8% per year
668	LTQ11-336- MA-FL-1100 (105)	I	С	1/1/2005					FL	28.00%	8.60%	3/3/2017	10/3/2017	12/17/2017	Preapproved 3 year phase in, 8.6% per year
669	GRP11-342- MA-NE-601 NTQ11-337-	G	С	9/23/2004					NE	69.00%	30.00%	8/8/2017	6/29/2018	10/8/2018	% of increase based on average
670	MA-NE-601 LTQ11-336-	I	A	1/1/2003					NE	144.30%	74.70%	8/8/2017	6/29/2018	10/8/2018	% of increase based on average
671	MA-NE-601 HTQ11-338-	I	С	7/9/2002					NE	144.30%	74.70%	8/8/2017	6/29/2018	10/8/2018	% of increase based on average
672	MA-NE-601 GRP11-342-	I	В	1/19/2004					NE	144.30%	74.70%	8/8/2017	6/29/2018	10/8/2018	% of increase based on average Preapproved 2 year phase in, 15% then
673	MA-CO-601 GRP11-342-	G	С	8/1/1999					СО	79.30%	15.00%	8/23/2017	10/23/2017	1/9/2017	4.3% Preapproved 2 year phase in, 15% then
674	MA-CO-998 LTQ11-336-		С	8/1/1999					СО	79.30%	15.00%	8/23/2017	10/23/2017	1/9/2017	4.3% Preapproved 2 year phase in, 15% then
675	MA-CO-601 LTQ11-336-		С	9/1/1999					СО	93.30%	15.00%	8/23/2017	10/23/2017	1/9/2017	4.3% Preapproved 2 year phase in, 15% then
676	MA-CO-998 HTQ11-338- MA-CO-601		В	9/1/1999					CO	93.30%	15.00% 15.00%	8/23/2017 8/23/2017	10/23/2017	1/9/2017	4.3% Preapproved 2 year phase in, 15% then 4.3%
678	14515-MN		С	9/1/1998	12/31/2008	Combined Insurance Company of America	62146		MN	N/A	9.50%	N/A	N/A	7/5/2017	Preapproved from prior filing
679	SPL-336	I	С	2/24/2004					ME	N/A	0.80%	N/A	N/A	10/21/2017	Preapproved from prior filing
680	LTQ11-336- MA-NC-601 (105)	ı	С	1/1/2005					NC	19.00%	6.00%	9/29/2017	1/23/2018	5/12/2018	
681	SPL2-336	I	С	12/4/2009					VT	23.80%	pending	10/12/2017	pending	pending	% of increase based on average
682	SPL2-336	I	С	10/1/2007					OK	14.70%	10.00%	10/25/2017	2/1/2018	pending	% of increase based on average
683	SPL2-336	I	С	11/1/2007					NV	9.70%	9.50%	10/26/2017	3/6/2018	pending	% of increase based on average
684	SPL2-336		С	10/1/2007	_				ID	4.80%	pending	10/30/2017	pending	pending	% of increase based on average
685	SPL2-336		С	8/1/2008					AR	24.60%	0.00%	11/1/2017	11/21/2017	N/A	% of increase based on average
686	SPL-336		С	6/1/2004					WY	N/A	40.90%	N/A	N/A	11/1/2017	Preapproved from prior filing
687	SPL2-336	I	С	8/1/2007					NM	23.50%	5.00%	10/30/2017	1/16/2018	6/26/2018	% of increase based on average
688	GRP11-342- MA-HI-1100	G	С	8/1/2003					НІ	96.90%	pending	11/10/2017	pending	pending	% of increase based on average

Row#	Policy Form	*Policy Type	**Policy Category	Date Policy Sold	Date Policy Acquired	Acquired From Company Name	Acquired From Company NAIC	CA Policy	Other State Policy	Increase Requested	Increase Approved	Date Increase Requested	Date Increase Approved	Date Increase Issued	Company Explanation
689	LTQ11-336- MA-HI-1100	ı	С	8/12/2002					НІ	95.80%	pending	11/10/2017	pending	pending	% of increase based on average
690	SPL2-336	I	С	12/1/2007					DC	N/A	4.50%	N/A	N/A	11/21/2017	Preapproved from prior filing
004	0.D.L. 0.0.0									404.000/	40.400/	40/40/0047	·		Preapproved 2 year phase in, 18.4%
691	SPL-336 NTQ11-337-	ı	С	2/24/2004					ME	121.30%	18.40%	12/19/2017	5/24/2018	9/15/2018	then 18.4%
692	MA-ME-601	1	Α	7/1/2003					ME	77.50%	20.00%	12/19/2017	7/25/2018	10/13/2018	Preapproved 2 year phase in, 20% then 20%
693	LTQ11-336- MA-ME-601	1	С	7/1/2003					ME	77.50%	20.00%	12/19/2017	7/25/2018	10/13/2018	Preapproved 2 year phase in, 20% then 20%
033	HTQ11-338-			77172003					IVIL	77.0070	20.0070	12/13/2017	1/23/2010	10/13/2010	Preapproved 2 year phase in, 20% then
694	MA-ME-998	ı	В	7/1/2003					ME	77.50%	20.00%	12/19/2017	7/25/2018	10/13/2018	20%
695	14515-IL	I	С	12/1/1997	12/31/2008	Combined Insurance Company of America	62146		IL	66.70%	pending	12/21/2017	pending	pending	Applies only to policies with inflation protection
696	14785-IL	ı	С	9/1/2004	12/31/2008	Combined Insurance Company of America	62146		IL	35.00%	pending	12/21/2017	pending	pending	Applies only to policies with inflation protection
697	SPL-336	ı	С	6/5/2004					UT	50.00%	28.20%	1/5/2018	5/25/2018	9/18/2018	% of increase based on average
698	SPL-336	I	С	5/13/2004					AR	132.40%	15.00%	1/8/2018	2/16/2018	8/11/2018	% of increase based on average
699	SPL-336	I	С	6/18/2004					VA	195.20%	pending	1/9/2018	pending	pending	% of increase based on average
700	LTC-CD9- MA-VA	ı	С	3/1/1999					VA	263.20%	pending	1/9/2018	pending	pending	% of increase based on average
701	NTQ11-337- MA-VA-1100	ı	A	7/1/2003					VA	198.80%	pending	1/9/2018	pending	pending	% of increase based on average
702	LTQ11-336- MA-VA-1100	1	С	7/1/2003					VA	198.80%	pending	1/9/2018	pending	pending	% of increase based on average
703	HTQ11-338- MA-VA-1100	1	В	7/1/2003					VA	198.80%	pending	1/9/2018	pending	pending	% of increase based on average
704	14515-MI	I	С	7/1/1998	12/31/2008	Combined Insurance Company of America	62146		MI	66.70%	66.70%	1/26/2018	2/28/2018	9/18/2018	Applies only to policies with inflation protection
705	14765-MI	I	В	11/1/2004	12/31/2008	Combined Insurance Company of America	62146		MI	100.00%	100.00%	1/26/2018	2/28/2018	9/18/2018	Applies only to policies with inflation protection

		*Policy	**Policy	Date Policy	Date Policy	Acquired From	Acquired From Company	CA	Other State	Increase	Increase	Date Increase		Date Increase	
Row #	Policy Form	Туре	Category	Sold	Acquired	Company Name	NAIC	Policy	Policy	Requested	Approved	Requested	Approved	Issued	Company Explanation
706	14767-MI	ı	С	4/1/2003	12/31/2008	Combined Insurance Company of America	62146		MI	100.00%	100.00%	1/26/2018	2/28/2018	9/18/2018	Applies only to policies with inflation protection
707	14515-ID	ı	С	4/1/1998	12/31/2008	Combined Insurance Company of America	62146		ID	91.70%	pending	2/2/2018	pending	pending	Applies only to policies with inflation protection
708	14785-ID	ı	С	2/1/2004	12/31/2008	Combined Insurance Company of America	62146		ID	35.00%	pending	2/2/2018	pending	pending	Applies only to policies with inflation protection
709	14515-GA	I	С	4/1/1999	12/31/2008	Combined Insurance Company of America	62146		GA	85.20%	12.00%	2/6/2018	5/29/2018	10/6/2018	Applies only to policies with inflation protection
710	14515-VT	I	С	4/1/1999	12/31/2008	Combined Insurance Company of America	62146		VT	130.00%	pending	2/9/2018	pending	pending	Applies only to policies with inflation protection
711	14767-VT	I	С	1/1/2003	12/31/2008	Combined Insurance Company of America	62146		VT	100.00%	pending	2/9/2018	pending	pending	Applies only to policies with inflation protection
712	14515-WY	-	O	12/1/1997	12/31/2008	Combined Insurance Company of America	62146		WY	66.70%	66.70%	2/27/2018	4/17/2018	10/6/2018	Applies only to policies with inflation protection
713	14785-WY	ı	C	4/1/2004	12/31/2008	Combined Insurance Company of America	62146		WY	35.00%	35.00%	2/27/2018	4/17/2018	10/6/2018	Applies only to policies with inflation protection
714	14515-MO	1	С	2/1/1998	12/31/2008	Combined Insurance Company of America	62146		MO	91.50%	38.40%	3/13/2018	5/29/2018	10/6/2018	Applies only to policies with inflation protection
715	14785-MO	ı	С	2/1/2006	12/31/2008	Combined Insurance Company of America	62146		МО	35.00%	19.60%	3/13/2018	5/29/2018	10/6/2018	Applies only to policies with inflation protection
716	14515-NC	I	С	7/1/1998	12/31/2008	Combined Insurance Company of America	62146		NC	139.67%	pending	3/13/2018	pending	pending	Applies only to policies with inflation protection

Row#	Policy Form	*Policy Type	**Policy Category	Date Policy Sold	Date Policy Acquired	Acquired From Company Name	Acquired From Company NAIC	CA Policy	Other State Policy	Increase Requested	Increase Approved	Date Increase Requested	Date Increase Approved	Date Increase Issued	Company Explanation
		71 -				Combined	-			.,	11		11		, , ,
						Insurance									Anning only to policing with inflation
717	14785-NC	1	С	4/1/2004	12/31/2008	Company of America	62146		NC	41.80%	pending	3/13/2018	pending	pending	Applies only to policies with inflation protection
718	SPL-336	I	С	5/6/2004					MT	138.00%	40.20%	3/22/2018	6/14/2018	9/16/2018	% of increase based on average
719	SPL-336	I	С	6/8/2004					LA	85.50%	pending	4/12/2018	pending	pending	% of increase based on average
700	SPL2-336-			0/00/0000						0.000/		4/40/0040			0/ - 6 :
720	MN SPL2-336-	Į.	С	2/28/2008					MN	9.00%	pending	4/16/2018	pending	pending	% of increase based on average
721	MN-0908	1	С	2/28/2008					MN	9.00%	pending	4/16/2018	pending	pending	% of increase based on average
	14515-WI	ı	С	12/1/1997	12/31/2008	Combined Insurance Company of America	62146		WI	10.00%	10.00%	4/17/2018		10/6/2018	Applies only to policies who have previously received a capped 10% increase
723	NTQ11-337- MA-TX-1100 (Rev. to 601)	I	A	6/1/2003					TX	89.60%	pending	4/24/2018	pending	pending	% of increase based on average
	NTQ11-337-														
724	MA-TX-601 (10 Pay)		A	10/1/2003					TX	89.60%	pending	4/24/2018	pending	pending	% of increase based on average
	LTQ11-336- MA-TX-1100 (REV. TO 601)		С	9/1/2001					TX	89.60%	pending	4/24/2018		pending	% of increase based on average
120	LTQ11-336-			0/1/2001					121	30.0070	ponung	172 172010	portaing	portaing	70 of microaco passa en avolage
726	MA-TX-601 (10 Pay)	1	С	8/1/2003					TX	89.60%	pending	4/24/2018	pending	pending	% of increase based on average
727	HTQ11-338- MA-TX-1100 (Rev. to 601)	I	В	5/1/2003					TX	89.60%	pending	4/24/2018	pending	pending	% of increase based on average
728	GRP11-342- MA-TX-1100	G	С	7/1/2004					TX	45.00%	0.00%	4/24/2018	7/5/2018	N/A	% of increase based on average
729	14515-CT	G	С	7/1/2004	12/31/2008	Combined Insurance Company of America	62146		CT	130.00%	15.00%	4/25/2018		10/6/2018	Applies only to policies with inflation protection
123	SPL2-336-	- 1		1/21/1999	12/01/2000	,ionoa	0 <u>2</u> 1 <del>7</del> 0		01	100.0078	10.00 /6	7/20/2010	5/20/2010	10/0/2010	p. ctc stion
730	NE	1	С	7/16/2007					NE	11.80%	pending	4/27/2018	pending	pending	% of increase based on average
731	14515-VA	ı	С	4/1/1999	12/31/2008	Combined Insurance Company of America	62146		VA	130.00%	pending	5/3/2018	pending	pending	Applies only to policies with inflation protection

Row#	Policy Form	*Policy Type	**Policy Category	Date Policy Sold	Date Policy Acquired	Acquired From Company Name	Acquired From Company NAIC	CA Policy	Other State Policy	Increase Requested	Increase Approved	Date Increase Requested	Date Increase Approved	Date Increase Issued	Company Explanation
732	SPL2-336- MT	1	С	5/1/2008					MT	24.70%	pending	5/10/2018	pending	pending	% of increase based on average
	SPL2-336-		_	_ /. /											
733	MT-0408		С	5/1/2008					MT	24.70%	pending	5/10/2018	pending	pending	% of increase based on average
734	SPL-336		С	5/21/2004					NC	N/A	20.00%	N/A	N/A	4/18/2018	Preapproved from prior filing
735	FSPL-336		С	5/21/2004					NC	N/A	20.00%	N/A	N/A	4/18/2018	Preapproved from prior filing
736	SPL-336		С	4/20/2004					DC	N/A	8.10%	N/A	N/A	5/10/2018	Preapproved from prior filing
	SPL2-336		С	10/1/2007					IN	25.00%	0.00%	5/24/2018		N/A	% of increase based on average
738	SPL2-336	ı	С	11/12/2007					GA	5.00%	5.00%	5/25/2018	6/1/2018	10/6/2018	% of increase based on average
739	TGR11-342- MA-TN-601	G	С	7/1/2003					TN	141.00%	20.00%	2/23/2017	10/30/2017	7/7/2018	Preapproved 2 year phase in, 20% then 20%
740	SPL2-336	I	С	6/1/2008					MD	4.20%	pending	5/31/2018	pending	pending	% of increase based on average
741	SPL2-336	ı	С	8/1/2008					AR	24.60%	0.00%	6/1/2018		N/A	% of increase based on average
742	14515-SC	ı	С	6/1/2000	12/31/2008	Combined Insurance Company of America	62146		SC	91.70%	pending	6/1/2018	pending	pending	Applies only to policies with inflation protection
743	14785-SC	I	С	8/1/2007	12/31/2008	Combined Insurance Company of America	62146		SC	35.00%	pending	6/1/2018	pending	pending	Applies only to policies with inflation protection
744	14515	1	С	7/1/1999	12/31/2008	Combined Insurance Company of America	62146		AR	95.70%	15.00%	6/8/2018	6/18/2018	10/6/2018	Applies only to policies with inflation protection
745	14785-AR	I	С	10/1/2006	12/31/2008	Combined Insurance Company of America	62146		AR	35.00%	15.00%	6/8/2018	6/18/2018	10/6/2018	Applies only to policies with inflation protection
746	14515-WA	1	С	7/1/1999	12/31/2008	Combined Insurance Company of America	62146		WA	78.50%	pending	6/13/2018	pending	pending	Applies only to policies with inflation protection
747	14515-OH	1	С	5/1/1998	12/31/2008	Combined Insurance Company of America	62146		ОН	84.00%	pending	6/14/2018	pending	pending	Applies only to policies with inflation protection
748	14766-OH	I	A	2/1/2003	12/31/2008	Combined Insurance Company of America	62146		ОН	100.00%	pending	6/14/2018	pending	pending	Applies only to policies with inflation protection

Row#	Policy Form	*Policy	**Policy Category	Date Policy Sold	Date Policy Acquired	Acquired From Company Name	Acquired From Company NAIC	CA Policy	Other State Policy	Increase Requested	Increase Approved	Date Increase Requested	Date Increase Approved	Date Increase	Company Explanation
ROW #	1 Olicy 1 Olili	Турс	Outegory	Oolu	Acquired	, ,	147410	1 Olicy	1 Olloy	requested	Approved	requested	Арріочец	133464	T Company Explanation
749	14767-OH	I	С	1/1/2003	12/31/2008	Combined Insurance Company of America	62146		ОН	100.00%	pending	6/14/2018	pending	pending	Applies only to policies with inflation protection
750	44705 OH		0	0/4/0004	40/04/0000	Combined Insurance Company of	004.40		011	25 000/		0/44/0040			Applies only to policies with inflation
750	14785-OH	- ! -	С	8/1/2004	12/31/2008	America	62146		OH	35.00%	pending	6/14/2018		pending	protection
751	SPL-336	ı	С	7/1/2004					WA	N/A	20.60%	N/A	N/A	6/23/2018	Preapproved from prior filing
752	14515-MN	ı	С	9/1/1998	12/31/2008	Combined Insurance Company of America	62146		MN	N/A	6.40%	N/A	N/A	7/5/2018	Preapproved from prior filing
_	SPL-336	i	C	6/29/2004	12/01/2000	7.11101100	02110		ID	N/A	12.00%	N/A	N/A	7/18/2018	Preapproved from prior filing
754	14515-LA		С	1/1/1999	12/31/2008	Combined Insurance Company of America	62146		LA	91.70%	0.00%	7/9/2018		N/A	Applies only to policies with inflation protection
755	14785-LA	ı	С	8/1/2006	12/31/2008	Combined Insurance Company of America	62146		LA	35.00%	0.00%	7/9/2018		N/A	Applies only to policies with inflation protection
756	14515-WV	I	С	11/1/1998	12/31/2008	Combined Insurance Company of America	62146		WV	66.70%	pending	7/9/2018		pending	Applies only to policies with inflation protection
757	SPL-336	I	С	3/9/2004					MN	N/A	14.80%	N/A	N/A	9/25/2018	Preapproved from prior filing
758	HTQ11-338- MA-CT-601 PRT11-336-	I	В	9/1/2003					СТ	N/A	10.00%	N/A	N/A	10/8/2018	Preapproved from prior filing
759	MA-CT-601 PNQ11-337-	I	С	9/1/2003					СТ	N/A	10.00%	N/A	N/A	10/8/2018	Preapproved from prior filing
760	MA-CT-601 PRT-336-CT-	I	Α	9/1/2003					СТ	N/A	10.00%	N/A	N/A	10/8/2018	Preapproved from prior filing
761	0508 LTQ11-336-	I	С	10/1/2009					СТ	N/A	10.00%	N/A	N/A	10/8/2018	Preapproved from prior filing
762	MA-CT-601	I	С	9/1/2003					СТ	N/A	10.00%	N/A	N/A	10/8/2018	Preapproved from prior filing
763	PGR11-342- MA-CT-601	G	С	6/1/2002					СТ	N/A	10.00%	N/A	N/A	10/8/2018	Preapproved from prior filing
_	GRP11-342- MC-CT-200	G	С	6/1/2002					CT	N/A	10.00%	N/A	N/A	10/8/2018	Preapproved from prior filing
	SPL-336	<u>!</u>	С	6/1/2004					WY	N/A	40.90%	N/A	N/A	11/1/2018	Preapproved from prior filing
766	SPL-336	ı	С	9/19/2004					NV	N/A	25.20%	N/A	N/A	12/8/2018	Preapproved from prior filing

767 MA	ΓQ11-336- A-FL-1100				ı	Company Name	Company NAIC	CA Policy	Other State Policy	Increase Requested	Increase Approved	Date Increase Requested	Date Increase Approved	Date Increase Issued	Company Explanation
		ı	С	12/1/1998					FL	N/A	23.30%	N/A	N/A	12/17/2018	Preapproved from prior filing
768 14	1775-FL	I	С	9/1/2001	12/31/2008	Combined Insurance Company of America	62146		FL	N/A	10.80%	N/A	N/A	12/17/2018	Preapproved from prior filling
769 14	1788-FL	I	С	7/1/2003	12/31/2008	Combined Insurance Company of America	62146		FL	N/A	10.80%	N/A	N/A	12/17/2018	Preapproved from prior filling
770 14	1787-FL	I	С	6/1/2003	12/31/2008	Combined Insurance Company of America	62146		FL	N/A	10.80%	N/A	N/A	12/17/2018	Preapproved from prior filling
771 SP	PL-336	I	С	11/1/2004					FL	N/A	21.00%	N/A	N/A	12/17/2018	Preapproved from prior filing
772 SP	PL2-336	I	С	2/1/2008					FL	N/A	7.80%	N/A	N/A	12/17/2018	Preapproved from prior filing
Policy K	Key Codi	ng:													
_	*Policy Type														
		Individua	al												
	G	Group													
		Partners	ship												
**	Policy Ca	egory													
	** Policy Category  A Nursing and Residential Care Facility/Tax Qualified														
B Home Care Only/Tax Qualified															
	C Comprehensive/Tax Qualified														
D Nursing and Residential Care Facility/Non-Tax Qualified															
				n-Tax Qualified											
F Comprehensive/Non-Tax Qualified															